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INSTRUCTIONS FOR CANDIDATES

Immediately after commencement of the Examination, check that this Question
Booklet contains 16 pages and does not have any unprinted, torn or missing
pages or items, etc. If so, get it replaced by a New Question Booklet of same
series.

Enter your Roll Number on the Question Booklet in the Box provided above. DO
NOT write anything else on the Question Booklet and avoid any stray marks.

Candidates must fill up the necessary information only in the space provided
on the supplied OMR Sheet before commencement of the examination and must
not make any unnecessary marks on it. Necessary directions are available on
the OMR Sheet for filling up the same.

For marking the correct answef, darken one circle by black or blue ballpoint
pen only. Do not mark on more than one circle. Darkening more than one
circle will be treated as wrong answer.

Do not detach any leaf from this Question Booklet. After the Examination, hand
over the OMR Sheet to the Room Invigilator. You are allowed to take the
Question Booklet after the Examination is over.

This Question Booklet contains 90 Questions. Each question carries 1 mark.
There is no negative marking for any wrong answer.

Questions in General Knowledge, Mathematics, Reasoning & Computer are
both in Hindi & English. However, English Version shall always prevail in case
of any discrepancy or inconsistency between English version and its Hindi
Translation.

Two pages have been provided for Rough Work in this Question Booklet.

Possession and use of Calculator, Smart Watch/Watch, Mobile Phone and
Electronic Gadgets is strictly prohibited in the Examination Hall.

Candidates are informed that evaluation of the OMR Sheet will be done by
Electronic Machine. So, darken the circles on the OMR Sheet properly,
otherwise Machine will not be able to read and evaluate it. Failure to comply
with this instruction will be the sole responsibility of the candidates.
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Directions (01-04) : Read the passage
and then answer the questions based on it.
You are required to select your answers
based on the contents of the passage and
opinion of the author only.

PASSAGE

The rule of the road means that, to
protect everyone’s freedoms, we must
sometimes restrict individual freedoms. When
a policeman steps into the road and raises
his hand to stop traffic, he is not acting as a
tyrant but as a protector of freedom. By
accepting small limits on personal liberty, we
can create a society where freedom is real for
everyone. We must preserve both our
individual freedom and our social freedom.
This requires a thoughtful balance. While no
one should tell me exactly what my child
must study, if I were to say my child should
have no education, society would step in and
insist that my child must go to school,
whether I like it or not.

1. What does “the rule of the road” suggest
in the passage ? :

(a) Freedom should not be restricted
at any time.

(b) Individual freedoms must
sometimes be limited to protect
everyone’s freedom.

(c) Only policemen have the right to
restrict freedom on the road.

(d) Freedom cannot coexist with rules.

2. According to the passage, when a
policeman stops traffic, he represents

(a) tyranny (b) power

(¢} freedom (d) fear

3. The author suggests that society would

intervene if

(a)

a parent wants his child to attend
a specific school
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(b) a parent insists that his child
should not receive any education.
(c) a child prefers studying science
over arts.
(d) a child wants to study abroad.
4. What is required to maintain both

individual and social freedom, according
to the passage ?

(a) A strong government.

(b) Complete individual freedom
without limits.

(c) A balance between individual and
social freedom.

(d) Restrictions on only social
freedom.

Directions (05-09) : In the following
questions, out of the four alternatives, select
the word nearest in meaning to the words
given.

5. Ostentation
(a) Calmness (b) Equanimity
(c) Declaration (d) Pageantry
6. Primordial
(a) Feeling of elation
(b) Small
(c) Elementary
(d) Daunting
7.  Massive
(@) Enormous (b) Erroneous
(¢) Hazardous (d) Perilous
8. Stubborn
(a) Observant (b) Obnoxious
(c) Obstinate (d) Corpulent
9. Astronomical
(a) Exorbitant (b) Commercial
(c) Durable (d) Ilogical



Choose the

Directions (10-14) :

alternative that is most nearly opposite in
meaning to the given words.

10.

11.

12.

13.

14.

Anathema

(a) Appreciation (b) Cursed
(c) Protection (d) Obstacle
Opaque

(a) Vague (b) Firm
(c) Transparent (d) Poor
Belittle

(a) Allure (b) Disturb
() Ascend (d) Magnify
Inclement

(a) Pleasant (b) Stormy
(c) Feeble (d) Dignified
Vanity

(@) Humility (b) Pride
(c) Ostentation (d) Pity
Directions (15-17) Choose the

alternative which best expresses the meaning
of the given idioms/proverbs :

15.

16.

To move heaven and earth

(a) to pray earnestly

(b) to make every possible effort
(c) to sing beautifully

(d) None of the above

To jump the gun

(a) todo sorriething without finishing it

(b) to try and harm someone

(c) to do something before the
appropriate time

(d) None of the above
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17.

To fly off the handle

(a) to dislocate

(b) to lose one’s temper
(c) to take off

(d) to be indifferent

Directions (18-20) : Out of the given

alternatives, choose the one which can best

be substituted for the given words or
sentence.
18. Constant effort to achieve something.

19.

20.

21.

21.

22,

(&) Patience (b) Vigour
(c)
Words inscribed on the tomb.
(a)
(©
Life history of a man written by himself.
()
(©

Soaps clean surfaces on the principle
based on

(a)
(c)

HET P ERI Gl B AE A B
fRrgr= emelRa 2

Enthusiasm  (d) Perseverance

Eulogy (b) Epitaph
Memoir (d) Eloquence
Biography (b) Autobiography

Calligraphy (d) Bibliography

viscosity (b) floatation

elasticity (d) surface tension

AT TR (b) T W

(a)
(c)

Which one of the following waves is used
for detecting forgery in currency notes ?

TARIA W (d) Y 919 W

(a) Ultraviolet waves
(b) Infrared waves
(c) Radio waves

(d) Microwaves



22

23.

23.

24,

24.

25.

o e ot - B 15 e B | o B
@ forg FA=forea & | dH— a3t &
TANT BT ' 7

(8) TR @A (b) SFARER AEA
() YR (@) g
Which one of the following is the
chemical formula of gypsum ?

(a) CaSO,-2H,0 (b) Ca,SiO,

(c) 2CaSO,-H,0 (d) CaSO,

frafafaa # 4 sF—w1 Rww @
IS GF 8 ?

(@) CaSO,-2H,0 (b) Ca,SiO,

(c)

Thyroid gland produces a hormone
called ‘thyroxine’ which

2CaSO, -H,0 (d) CaSO,

(a) controls blood glucose levels

(b) controls ovulation
(c) controls metabolic rate
(d) maintains pregnancy

g (@URREs) uf grgRifea e
T BIHI P STET BRAl &, S

(@) o H TeIe @ WK B I
PR |

(b) SUSIE (3egerer) @ gt
FRAT B |

(c) SUTTH TR B AR FRar 2|

(d) THiaReT B g9 G & |

Precursor of which one of the following
vitamins comes from - carotene ?

(a) Vitamin- A (b) Vitamin- C

(¢) Vitamin-D (d) Vitamin- K
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25,

26.

26.

27,

27.

frforRe et & & 59 @ @
T -BASH I 9w Brar & ?

(@ fIefis— A
(b) faerf[- c
) fref=-ob
(@ fefE— k

Who among the following was the
founder of the Young Bengal Movement ?

(a) Henry Vivian Derozio

(b) David Hare

(c) Dwarkanath Tagore

(d) Prasanna Kumar Tagore

T T =TT BT Yadd fAeferRad
¥ P AT ?

(@) T fafdws fAfsrar

(b) SfIs B3R

() ENBMRS SR

(d) TEH FAR SR

The Indian National Army/Azad Hind

Fauz was organized to fight against

(a)

Germany and Japan

(b) British in India
(c) Japan
(d) Russia

B
®

TRA TS 9 /enere B
oA fpa /fhae foeg o=
forar T o ?

(a) STHAT GAT AU

Ll
ferg

(b) WRa ¥ fafesr
(c) SITUT
d w4



28.

28.

29.

29.

30.

30.

31.

Who is the Current Chairperson of the
National Women Commission ?

(a) Mamta Sharma
(b) Rekha Sharma

(c) Vijaya Kishore Rahatkar

(d) None of these

ALY ARSAT SMANT B A JEET
P E ?

(@) ¥ SM

(b) =& I

(c) facmar iR J@eaR

(d) TTH ¥ PIS &N

The Nagarjuna Sagar Project is located
on which one of the following rivers ?

(a) Godavari (b) Krishna

(c) Kavery (d) Mahanadi
T wrR aREer,  fAefoRed
Ffedi § ¥ fp9 te W eaRem 2 ?

(a) TITETRT (b) T

(c) IR () el

Which one of the following States in
India has the longest coastline ?

(a) Odisha (b) Tamil Nadu
(c) Gujrat (d) West Bengal
aRa @ e § @ e wow #
AR o ol qevaT & 7

(a) ifeRm (b) TS

(c) TR (d) Tf¥em et

The two provisions of the Constitution of
India that most clearly express the
power of Judicial review are

(A-6)
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31.

32.

32.

33.

(a) Article- 21 and Article- 446
(b) Article- 32 and Article- 226
(c) Article- 44 and Article- 152
(d) Article- 17 and Article- 143
RA @ G @ q Suew, S |aied

We W W e GHfdared o wafad
B FIT P B, P & ?

(a) SFTE— 21 TAT ATHWT— 446
(b) STTVTI— 32 TAT AT 226
(c) SIJWT— 44 TAT ATWE— 152
(d) SrIESE— 17 TAT ITEWE— 143

Who among the following can attend the
meetings of both the Houses of
Parliament while not being a member of
either House ?

(a) The Solicitor General of India
(b) The Vice-President of India

() The Comptroller and Auditor
General of India

(d) The Attorney General of India
Tag @ fFdt fY ¥ @1 9w d 8F
w® ), frafaRed § ¥ &9 98 @ Sl
FeAl @ b § SuRed & Fadl & ?
(a) WRG &1 WIfARTSR SRel

(b) WA BT ORISR

(¢) WRd & fATFE TG AETrATNIEd
(d) WRT BT ARTIRIATE!

Which among the following is not a basic
feature of the Constitution of India ?

(a) Fundamental Rights
(b) Independence of Judiciary
(c) Federalism

(d) The unquestioned right of the
Parliament to amend any part of
the Constitution



33.

34.

34.

35.

35.

frefolag 3 ¥ s9—<01 wRa & Afdur
BT M faRiar \Er § 7

@ T AEER

(b) wATIUTferT Y T

(c) edrg

(@ wfaer @ fEA Y 9T o1 A
A B Gg B Afdare afem

According to the Census 2011, the
density of population in which one among
the following States is the lowest ?

(a) Sikkim

(b) Nagaland

(c) Arunachal Pradesh

(d} Mizoram

2011 @ TFIOET & AR frferRad
Tl A ¥ R s oSHEen @
@ AT © 7

(a) fafded

{b]. NI

(c) SITEUTIA HIT

(@ e

Which one among the following

countries was the top contributor to
India’s total FDI for the year 2023-24.

(@) Mauritius (b) Singapore
(c) USA
fafoafed § ¥ @9F— TP a9 2023-
24 ¥ WRG @ HFA THoslodgo H

(d) Japan

WAt AnTedhdt a9 o7 ?
(@) HIReN (b) YR
() YeoU¥olo (d) SIHTd

(A7)
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36.

36.

37.

37.

38.

38.

39.

(¢ Rs.76

Rs. 561 is to be distributed among A, B,
C in such a way that A gets Rs. 120
more than B and Rs. 120 less than C.
What is the share of B in this ?

(@ Rs.73 (b) Rs.67

(d) Rs. 80

561 %o B A, B, C # 39 YaR faaRd
FHAT & f6 A BT B 9 120 %o 3ifdd T
C ¥ 120 Bo ¥ fAei| $HH B &1 W
fam & ?

(a) 73 %o (b) 67 Bo

(c) 760 (d) 80 %o

Ifa:b=3:4and b:c=4:7 then
a+b+c
c

fa) 1 (b) 2
€ 3 d 7
A a:b=3:4TMb:c=4:78 al

a+b+c _
c

(@) 1 (b) 2
(c) 3 (d) 7

Two numbers are in the ratio 3 : 4 and
their LCM is 84, What will be the larger
number out of these ?

@ 21 (b) 24
(c) 28 (@) 84

3 AT 3 : 4 D IGUT A & AT SHI
T AT 84 © | 39 W ST HeA
g1 8 ?
(a) 21
(c) 28

A can finish a piece of work in 12 days. A
and B together can finish it in 8 days. In
how many days can B alone finish the
work ?

(a) 24
() 18

=7

?

(b) 24
(d) 84

(b) 20
(d) 22



39.

40.

40.

41.

41.

AT B @ 12 9 H | @R
ghar 21 A 97 B fAaex 39 8 feT #
T B B 8| B Dol 59 B Dl
fras fo & 99 &) @Har g ?

(a) (b) 20
(c) (d) 22

A can do a piece of work in 10 days, B in
15 days and C in 20 days. A and C
together worked for 2 days. After that B
was put on the job in place of A. In how
many days the work was completed in
all ?

24
18

(a) (b) 10 days

(c) (d) 8 days
AfFfad & 10 9 # B, 15 R o
T C, 20 feF # T IR FHaT 21 A
T ¢ fAaax 2 9 & far | aeawenq
AP WH W B & dd R® o far
7| Fe femer e fhan T 9 @
garm ?

(@) 12 f (b) 10fa=
€ 6fed d) 8fe=

Car A covered a distance of 448 km in 8
hours and Car B covered a distance of
110 km more than Car A in 9 hours.
The ratio of the speed of car A and car B
is respectively :

(@)
() 55:2 (d) 62:55

PR A 3 448 o o1 T 8 gC # 7Y
W IAAMBGR BT 9 S H IR A H 110
fdfio 3 0 T @ | FR A Td BR
B & Tfc T U HH: —

(@)
()

12 days

6 days

28 : 31 (b) 29:32

28 : 31 (b) 29: 32

55 : 2 (d) 62:55
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42.

42.

43.

43.

44,

A lent Rs. 5000 to B for 2 years and Rs.
3000 to C for 4 years at the same rate of
simple interest. He received a total of
Rs. 2200 as interest from them, what is
the rate of interest ?

(@)
(c) 8%
A ¥ B @I 5000 $o 2 g¥ & forg @om ¢
BT 3000 To 4 Y B forw AR =T
P TP B X Q¥ SR Y| sy ©H
SH W S B WY H Fel 2200 Fo U
5 | =91 @ aiffes gv fhasir & ?

(a) (b)
(c) (d)

A sum of money amounts to Rs. 8028 in
3 years and Rs. 12042 in 6 years at a
certain rate of interest, when the
interest is compounded annually. What
is the principal amount ?

(a)
(c) Rs.5643

e fAf¥aa ufoea e v w 3 aut #
& R 8028 B WAl ® 3R 6 aut H
12042 To B WKl B, W N qNd
w9 W GRS BT ¥ | g ¥ @ g ?

(b) 4569 %o

5% (b) 7%

(d) 10%

5% 7%

8% 10%

Rs. 5352 (b) Rs. 4569

(d) Rs. 4596

(a) 5352 %o

(©

A man travels a certain distance by a
motorcycle. If he had travelled 6 km/h
slower, he would have taken 8 minutes
more. But, if he had travelled 4 km/hr

5643 To (d) 4596 To

faster, he would have

taken 4l
2

minutes less. Find the distance.

(a) (b) 68 km

(c) (d) 72 km

66 km
76 km



44

45.

45.

46.

46.

47.

47.

. e Ffdd Aiex aEfea g’ ta fAfded
T AT 2| gl 98 6 fFHo /HvEr
R Torar O S 8 fAFe e |
Ry, IR a8 4 HHlo /9ver a1 Ferar

mw4%ﬁ%wm|§ﬁ§rﬁ
HIfY |

(@) 66 fdHo (b) 68 f&= o
(¢ 76 fdHo (d) 72 fFHro
(257-168)=2

(@) 023 (b) 0.41

) 06 (d 038
(257-1.68) @1 A7 FAT R ?

(a) 023 (b) 041

(c) 06 (d 08
Junk E-mail is also called

(a) Spam (b) Spoof

(c) Sniffer script (d) Spool

Te $0e B g8 WY HET I §
(@) ¥ (b) ¥
() ¥R e (4 |

Data transfer rate in networks or
modems is measured in

(a) Bits per minute
(b) Bits per second
(c) Bandwidth

(d) None of the above

TeaR 1 AleT A STel WIMIaRY &
A STl &

(o) focw ufa e &

(b) fdcw ufa Qe A

() dsfagar A

(d) SR H ¥ BiE T8
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48.

48.

49.

49.

50.

50.

51.

~ (a)

A video consists of a sequence of

Frames (b) Signals
() Packets (d) Slots
TP ASA e P IHH A A
T 2 |
(@ W= (b) Rrerers
() daeH (d) wifeH

Which of the following is/are word
processing software ?

(a)
(c) MS Word (d) All of these
frafofag & & oF-1 7 GamS
IR & ?

(a) TSRBIE (b) T[T S

() MSdTS (d) T | o

The types of software used to carry out
tasks, such as writing a letter, is called :

(a)

WordPerfect (b) Google Docs

GUI software

(b) Utility software
(c) Application software
(d) System software

98 Witcaxk o1 ol e &1 [
B B oI W far o 8, 99
95 fere=, s & -

(a) GUI AMTEIIR

(b) Ffeferdt Afveamr
(c) TU=®I AUCdaR
(d) RreH divcamR

Which of the following is not a computer
language ?

(a) BASIC
(c) LOTUS

(b) COBOL
(d) FORTRAN



S51.

52.

52.

53.

53.

54.

54,

o # 9§ B FYER Bl AT T 87
(b) COBOL
(d) FORTRAN

(a) BASIC
(c) LOTUS

Which of the following is not a web
browser ?

(a) Yahoo (b) Opera

(c) Chrome (d) Mozilla firefox

frefeiRaa & | -1 T& 99 FOOR
e R ?

(@) TR
© @™

(b) SATURT
(d) TRTT BRRBIR

domain is usually used for
educational purpose.

(a) .in (b) .org

(c) .com (d) .edu
......................... SHE AR W fRreror
SRel @ fg yge g 2

(@) .in (b) .org

(¢) .com (d) .edu

Which of the following components of a
computer system, manages and
coordinates the operation of all the other
components ?

(@) Input Unit

(b) Output Unit

(c) Control Unit

(d) Arithmetic Unit

= A 9 o Frger Rived ¥ R
T T gedl DI YGHH g FArE qdT
AT BT B Pl & 7

(@) FTIC TP
(b) 3MSYE THIE
(c) eI 3PS
@) sreMieH P18

55.

55.

56.

56.

S7.

57.

58.

(A-10)

102

JPEG stands for
(a) Joint Professional Experts Group
(b) Joint Program Evaluation Group

(c) Joint Photographic Experts Group

(d) Joint Photographic Experienced
Group
JPEG &1 fIwR 8-

() TATEC WHIF VaUH YU

(b) TETSE WHUTH $AYUAS Y4

() AT BERThe Tauey g9
(d) TaTSE BIETPbe veTdiRyTs Iu
URL stands for

(a) Uniform Research Limited

(b) Uniform Resource Locator

(c) Uniline Resource Labs

(d) Uniform Research Locator

URL &T fa&R 8-

(@) IFwH Red fafds
(b) IFA®H RER S
(c) IfemsT RN o

(@ IFoH Red ddex

Spreadsheet files are generally stored
with an extension—

(a) .doc (b) .xsl
(c) .xcl (d) .xlsx
@ |1 HeriRa gl & |

(@) .doc (b) .xsl
(c) .xcl (d) .xlsx

Intersection of rows and columns in
spreadsheet are called

(b) Cells
(d) None of these

(@) Box

(c) Line



58. Wedle # wfdmdl 3R Wl & wfedsd | 64. (a) o™ (b) ST
B PN A 8 — © s (@) SR

@ (b) W 65. (a) afrergfaa (b) Srrefa
(c) s (d) $9H B & g SLE W S

59. is a compression technology for .
transmission of video. e (66'70) : FforRaa W W@ @
(a) JPG (b) MP4 ToQ 1@ 912 S Y T faedt § 9 g
(c0 MPEG (d) 3GP 66. RTH®T T 7 8-

59. . QST B FARY B o0 HdrST (@ 3T (b) 3SR
K A | © o @ R
B PR (Bl P 67. SIF B $TOT G- dlel—
(c) MPEG (d) 3GP

. — is a chip which performs (@ T () oy
arithmetic and logical instructions in (¢ S (d) =R
CPU.

: 68. I8 TR I ARG B
() Main memory

(b) Microcontroller (a) TR (b) ¥MRAT

(c) Microprocessor () S (d) lfbd

(d) SDRAM 69. Wi f&ft &1 fRa =meen B

AR — (c) fast (d) fEawmdt

& -y 70. AT W qTeAT—

€ TR (a) 3rea™ (b) 98

) SDRAM (€ T (@ o=

fidw  (61-65) : Frforiaa & ¥ g frder (71-72) : FrafoRea geraxt/
T et e BT T FfTT— drpifdadl o1 3 9 Ry MY fawedi § @
61. (a) TaER® (b) TS L

() <HATEIRS (d) JTERS TL S e E
62. (a) WIgHIG (b) wTgHia (e) S H S ST

() wgETa (@) TRIgEET LR AR
63. (a) omwearid  (b) SV (c) BT SfERT B

() 3w (d) veared () @ e

(A-11)
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72. A IREAT BT -
(b) eRET T
(d) o1 T

(@) @aRIAT
(c) Tl
frder (73-76) : FfaRaa s@aRor &

W AEe @ fERgER 8, @y U fawer 4

¥ gfg-

TS UEAAF B TS H U I,
JUH Y P GEpA JUT AW B iy 99 SR
I HEw & BT 81 98 IAUA g, Al
S IR AT @ g WOl BT S
B Bl Weg qoN edl gl O 2w @
frafral @& geg ¥ g8 Scdt WEer T8 g
g g, WA g u gE-wifa iR
wfg war @ forg @1 Soar 21 Swmidd 3R
vt Ra @ 91 Iy "8 @1 i
& T8l Y8 |Hdr| g8 WEEl S9 g9 9 B
Yg Y B IRT Fral g fh 98 s |
gaell @Y e IR A B FaRer R,
R ReR W IR W & Y &< | |AT &l

g uEeR efad W SOl Uded
PR PR ¢, YT S B U dAA |
TRT AISPR SN U 7 < |

73. WREF I WY ST &
@) S Wi
(b) 39 HNT
(c) STl S HIET
(d) ST -
74. TENY BT HeE) Wid o
(@ WS AR
(b) TSI
(c) TIg & U wd
@ ¥ B gE-

(A-

102

75. GA® IEIMAM! & &g H AMAT Bl
2—

@ T P g > o
(b) < B I B feorg
() 2% P 9T B fw
- (d) =W P HAEAT > o
76. ITWfFT IRT B 8-
(@) 3R &1 fare B=e B forg
(b) 3T &g e B oy
(c) 3 @ &g ored & forg
(@) WA P o gg a3 Bq

fdw (77-78) : f=fafed w=i @
Trnelt wreg @1 "I SEe fev My fawent #
q HIg —

77. =
(@) €A (b) afE
(@ fx= (d) FT
78. XTI
(a) T (b) @A
() W&l | (d) s
fader (79-80) : fA=fafga <&l @

e wreg @1 T |9 U T et # 3
F—

79. HITHSD
(a) GFTHD (b) RorcHe
(c) HHTHG (d) AT
80. 3fa
(@) T AP (b) R
(c) o d) arfoera

12)



Direction (81-84) : Read the following
information carefully and answer the
questions given below it :

Six persons A, B, C, D, E and F are
sitting in two rows, three in each.
E is not at the end of any row.
D is second to the left of F.

C, the neighbour of E, is sitting diagonally
opposite to D.

B is the neighbour of F.

81. Which of the following are sitting
diagonally opposite to each other ?

(@ FandC (bp) Dand A
{cj AandC (d Aand F
82. Which of the following are in the same
row ?
(@ AandE (b) Eand D
(g CandB (d) Aand B

83. Which of the following are sitting in one
of the two rows ?

(a) FBC
(¢ DBF

84. After D and E interchanging seats, who
will be the neighbours of D in the new

(b) CEB
(d) AEF

position ?
(@@ CandA (b) Fand.B
(c) OnlyB (d) Only A

e (81-84) : ffoiRae wamail a1
HAOYHgEd 98 3R A Iy MYyl @
I T

B8 @ A, B, C, D, E 3R F T
dfgal § ¥ € ude dfew § I afdm 93
gl
E f&d +ff ifdq & fer § =181 da1 2|
F 3 q¥ TR% O Afda D 907 2 |
E® U A CdST 8, Ol D& AMHA &l aXb
faeofa: fAuda Je1 21

F& U9 B a1 2|

81

82.

83.

84.

85.

85.

86.

(A-13)
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frefafed & 4 d9-491 & TR D
e fawota: fuda 1 8 ?

(@) F3RC (b) D3MRA
€ A3dRC (d) ARF
frfafea & & @19 g & dfem § 33
g7
(a) AJRE
) CB3RB

frefaRaa 4 | SiF—ar a1 dfeal § 4
Th H IS T ?

(a) FBC

(b) E3RD
(d ASRB

(b) CEB
(c) DBF (d) AEF

D 3R E & WMl & JaA—dsAl B
9g, ¢ WIH R D & YN i 90T & ?
(@ C3RA (b) FIRB

() @IIB (d) PaTA

A and B are brothers. C and D are
sisters. A’s son is D’s brother. How is B
related to C ?
(a) Father (b) Brother
(c) Grandfather

ASRBYWE I C3IRD a8t &1 A @T
§eT D BT 98 Bl B, C ¥ 59 JaR

Hefera & ?
(@ foar

(c) <IaT

(d) Uncle

(b) TS
(d) =r=rm

A, B and C are sisters. D is the brother
of E and E is the daughter of B. How is

A relatedto D ?
(a) Sister (b) Cousin

(c) Niece (d) Aunt



86. A, B3R C eI E|D,E & S 23R | 88
E, B @ ¥ &| A, D ¥ &9 wor
wefra g ?

(@) & (b) HAY 98 89.
(c) ion (@ #rf

87. A and B are married couple in which B
is husband. X and Y are brothers. X is 90.
the brother of A. How is Y related to B ?

(a) Brother-in-law
(b) Brother

() Cousin

(d) None of these

87. A 3R B fafea wier 8 fred B ufy
TIXIRYIE TIX, APTHE &1y, | 88
B ¥ fd yaR wefda & ?

(@) T (b) #TS

(c) ¥ART TE (@ ¥ @i TE 89.

Direction (88-90) : In each of the
following questions, find out how many such

pairs of letters are there in the given word,

each of which has as many letters between 90.

them in the word as is/are between them in

the English alphabet.

(A-14)
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BRIGHTER

(a) One (b) Two
(c) Three (d) Four
HACKLE

(@) One (b) Two
(c) Three (d) Four
PICKLE

(a) Two (b) Three
() Four (d) Five

fader (88-90) : =g & @ udw

g H Ry 7 weg # guif & 09 fhaw o
g e dm sam & aof € R & sish
JUHATT H 39 ST BT & 7

BRIGHTER
(a) TP (b) a1
(¢ = (d) TR
HACKLE

(@ TP (b) &1
€ o= (d) IR
PICKLE

@ @ (b) o
(¢ TR (d) dr=
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9 T 3MIPI I§ WeT IR Wiel I 7 Hel WY a6 a0 7 @l |

gRa®T HeE EESEAR EE]
fufRa w5 @ 2 °e 3feHTH 3P : 90
e & forg A

10.

T 6 B F grea a5 areff 7w gRad av o 5 98 Je-gRaer oo 16 g B R
foeit o bR W T a1 W g% T AW T U i BT MY we T ¥ AR e
dl g9 WA NS A T-YRAET | 95 off WY |

P! JU G FE-gRaE § W Ry T we § e ¥ 390 IfiRed ye-gRad ®

3B A 7 ford 3R R yoR @1 sFaREE R T TR

el @ Suerel R T OMR Sheet ¥ aifea g@emt Feifa wom w wler 1% & &
74 9 & R 5 TeR F1 oFawe e T 99 81 smavae 9w OMR - Sheet W
SYE ¢ |

el ST-fifed ¥ @ fog feiRa v@ Mt & el @ e dfediz 0 gRT W e @ ARe
el B ffed 7 & | 1@ | 3T Mol & SR @ B9 7 fAfed d0 R 99 TR BT TAd AT
SIS |

T JE-gRad § A &R o= B e T | WER, OMR SWR-UF6 @) Fel Qe B
W9 S| 3] WS- & I8 FeA-gRA®T U WY of T B AR B |

T -9 § g 90 W E | YT W BN AN 1 3 ¥ | AT SN B oY Bl 3 T
HIC WA |

WA I, T/, T 6 $7ger @ wed fewal va ofiieht gl # § | afe ol # gfeg fordy
we SR S Rl 3are # dIg f=rar &), df 3Fon # qfia v & A=y gy

¥ W-gRaeT ¥ % 1 3 fo 7 7S 8IS U E

e HE H deAgeley, W gL /T, Mg B Al Folagie SUBRY W H G T4
SHHT STIRT FAT AT B |

effiTo 59 7T W aa ¥ f& OMR Sheet @l qedior oggie #eH gR1 fbar o B |

atd, OMR Sheet W Mol @ W& Ta W W w9 7N 391 T8 ug IR 3R oo
TEl P} URAT | 39 Y BT MR U 7 BeA B vy ¥ e 39e foRl Wy R

ull

Note : English Version of the instructions is printed on the First Page of this Booklet.
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DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU ARE ASKED TO DO SO

Booklet No. : Booklet Series

Roll No. : B

Time Allowed : 2 Hours

Maximum Marks : 90

10.

INSTRUCTIONS FOR CANDIDATES

Immediately after commencement of the Examination, check that this Question
Booklet contains 16 pages and does not have any unprinted, torn or missing
pages or items, etc. If so, get it replaced by a New Question Booklet of same
series.

Enter your Roll Number on the Question Booklet in the Box provided above. DO
NOT write anything else on the Question Booklet and avoid any stray marks.

Candidates must fill up the necessary information only in the space provided
on the supplied OMR Sheet before commencement of the examination and must -
not make any unnecessary marks on it. Necessary directions are available on
the OMR Sheet for filling up the same.

For marking the correct answer, darken one circle by black or blue ballpoint
pen only. Do not mark on more than one circle. Darkening more than one
circle will be treated as wrong answer.

Do not detach any leaf from this Question Booklet. After the Examination, hand
over the OMR Sheet to the Room Invigilator. You are allowed to take the
Question Booklet after the Examination is over.

This Question Booklet contains 90 Questions. Each question carries 1 mark.
There is no negative marking for any wrong answer.

Questions in General Knowledge, Mathematics, Reasoning & Computer are
both in Hindi & English. However, English Version shall always prevail in case
of any discrepancy or inconsistency between English version and its Hindi

Translation.
Two pages have been provided for Rough Work in this Question Booklet.

Possession and use of Calculator, Smart Watch/Watch, Mobile Phone and
Electronic Gadgets is strictly prohibited in the Examination Hall.

Candidates are informed that evaluation of the OMR Sheet will be done by
Electronic Machine. So, darken the circles on the OMR Sheet properly,
otherwise Machine will not be able to read and evaluate it. Failure to comply
with this instruction will be the sole responsibility of the candidates.
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fdm (o108) | FefRE ¥ ¥ =

goqT aTet Ieg BT T BIoTT—
1. (a) YR (b) ATERIRS
() TAEIRS (d) daEIR®
2. (o) wTGW (b) wTgHIa
(c) HrgHIE (d) GNTERHE
3. (a) omw@rNd (b)Y
(c) IR (d) ST
4. (a) WEE (b)) TEEM
(c) ST (d) ST
5. (a) Sfegfam (p) SriEe
(c) iR (d) erfrerafa
fadwr (06-10) : fFr=faRad g Wil &
forg @ wres I oy MY fawedt #§ & g
6. fom@ o= 9 8-
(a) oIS (b) 3R
(c) e (@ fa
7. WFH @ 38T T@H aTel-
(@) = (b) Rorsmyg
(c) = (d) *f
8. T8 a% W AAREH 8-
(a) TR (b) ImEET
(€ O (d) srfere
9. I foell &7 2 =T8T 8-
(@) fRABRY (b) SrfEddRI
(c) fRad (d) et
10. ST S drel—
(a) TS (b) IEF
(© ™ (@) 3

102

(B-3)

frde (11-12) : f=faRed geweri/
Arrfaaal &1 ek SHd Ry U Rpeai # 4
T
11. ‘BT DY B F GIAT FT 3k 8-
¥q 98
@Rl &
AT 3ERT BT

e T

(a)
(b)
()
(d)
AT gRET 1 3ef B
(@)
(b)

12.
HaARET
&IET AT

(c) ST

(d)

fder (13-16) : fA=foiRad smaaxRwr &1
W owd B frERgEr @), Ry T el #
¥ gg—

TS TEINAFT & ged W UH QY
U QI DI APl TAT 99T D Ffd 99 AR
JFAE wES & BT 81 98 IUe g, YAl
SR SR W & forg wrol @1 St
P P! WG TR B gl RN QW @
eyl @ g § I8 Soait wiaAT 78 B
T® W, WA BHR AT gE-wifd R
g wer & fog @ Jor 81 <emfa sk
Ardaite foa & fa I Agw @ eiikaw
8 8 W& 9HhdT| g HEAT SH 9 a1 @l
YO Hed B IR FRar § P a8 o=y 9
gdall B e R SFIE B AR BR, o
) ReR ® 3R =g & v &9 | 99T @y
g ugereR  agfad @M SOl UdheH
IEPR IR <, AT FGEIG P YA dA A
Tg AISHR S9 €@l 7 |

orel def-l



13. RN T @I58
Ul TG

(a)

(b) 3T HTET

(c) 3O S HrE

(d) ST -
14, TTENY BT e M¥d B

(@) TS FEE

(b) TSR

€ g D U FE

d) TS @ gE—-wifd

15, URF ASTWEET @ ged ¥ ANAE g

(@) =¥ @ wfg & forg
(b) < @ gE-—fa P fog
(c) oI @ W % forg
() T P HET @ forg
16. i IRT Fel 8-
(@) oM #1 frare =3 & forg

(b) 3ATd BF TS @ g

() 3 &M =g ofsH @ forn

() WA B Y g R

frfg (17-18) : P=fifaa vl @
TSt I 1 9o 9o fay MU feedi §
| BT —

17. =

() TEE (b) fE

(¢ foe (d) HT
18. &Rdl

() T (b) wras

(c) | (d) arEer
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s (19-20) : F=fafeg o=t @
e e &7 Tad 99 2y MY fawment # |
I

19. UMD
(@) GATHSD (b) Romes
(c) HIHIHP (d) ST
20. 3ffa
(@) T ®E (b)) A
(c) 39 (d) 3=

Directions (21-24) : Read the passage
and then answer the questions based on it.
You are required to select your answers
based on the contents of the passage and
opinion of the author only.

PASSAGE
The rule of the road means that, to
protect everyone’s freedoms, we must

sometimes restrict individual freedoms. When
a policeman steps into the road and raises
his hand to stop traffic, he is not acting as a
tyrant but as a protector of freedom. By
accepting small limits on personal liberty, we
can create a society where freedom is real for
everyone. We must preserve both our
individual freedom and our social freedom.
This requires a thoughtful balance. While no
one should tell me exactly what my child
must study, if I were to say my child should
have no education, society would step in and
insist that my child must go to school,
whether I like it or not.

21. What does “the rule of the road” suggest

in the passage ?

(a) Freedom should not be restricted
at any time.

(b) Individual freedoms must
sometimes be limited to protect
everyone’s freedom.

(c) Only policemen have the right to
restrict freedom on the road.

(d) Freedom cannot coexist with rules.



22.

23.

24,

According to the passage, when a
policeman stops traffic, he represents

(@) tyranny (b) power

(c) freedom (d) fear

The author suggests that society would
intervene if

(@) a parent wants his child to attend
a specific school

(b) a parent insists that his child
should not receive any education.

(c) a child prefers studying science
over arts.

(d) achild wants to study abroad.

What is required to maintain both
individual and social freedom, according
to the passage ?

(a) A strong government.

(b) Complete individual freedom
without limits.

(c) A balance between individual and
social freedom.

(d) Restrictions on only social
freedom.

Directions (25-29) : In the following

questions, out of the four alternatives, select
the word nearest in meaning to the words
given.

25,

26.

27.

Ostentation
(a) Calmness (b) Equanimity
(c) Declaration (d) Pageantry

Primordial

(a) Feeling of elation

(b) Small

(c) Elementary

(d) Daunting

Massive

(a) Enormous (b) Erroneous
(c) Hazardous (d) Perilous

102
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28. Stubborn
(a) Observant (b) Obnoxious
(c) Obstinate (d) Corpulent

29. Astronomical

(a) Exorbitant (b) Commercial
(c) Durable (d) Illogical
Directions (30-34) : Choose the

alternative that is most nearly opposite in
meaning to the given words.

30. Anathema

(a) Appreciation (b) Cursed

(c) Protection (d) Obstacle
31. Opaque
(a) Vague (b) Firm

(c) Transparent (d) Poor
32. Belittle

(a) Allure (b) Disturb

(c) Ascend (d) Magnify

33. Inclement

(a) Pleasant (b) Stormy

(c) Feeble (d) Dignified
34. Vanity

(a) Humility (b) Pride

(c) Ostentation (d) Pity

Directions (35-37) : Choose the
alternative which best expresses the meaning
of the given idioms/proverbs :

35. To move heaven and earth
(a) to pray earnestly
(b) to make every possible effort
(c) to sing beautifully

(d) None of the above



36

37.

. To jump the gun

(a) to do something without finishing it
(b) to try and harm someone

(c) to do something before the

appropriate time
(d) None of the above
To fly off the handle
(a) to dislocate
(b) to lose one’s temper
(c) to take off
(d) to be indifferent

Directions (38-40) : Out of the given

alternatives, choose the one which can best

be

substituted for the given words or

sentence.

38.

39.

40.

41.

41.

Constant effort to achieve something.
(a) Patience (b) Vigour
(c) Enthusiasm (d) Perseverance
Words inscribed on the tomb.

(a) Eulogy (b) Epitaph
(c) Memoir (d) Eloquence

Life history of a man written by himself.
(b) Autobiography

(d) Bibliography

(a) Biography
(c) Calligraphy

Soaps clean surfaces on the principle
based on

- (a) viscosity (b) floatation
(c) elasticity
YT $ §R Wasl B HE DR Bl
fagT ameniRa 2

(@) TIFCT TR

(d) surface tension

(b) wIEaT W

(€ YERIAT IR (d) IS a9/ W
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42.

42.

43.

43.

44,

44,

Which one of the following waves is used
for detecting forgery in currency notes ?

(a) Ultraviolet waves

(b) Infrared waves

(c) Radio waves

(d) Microwaves

I At ¥ el @ ggE w4
@ forg fraforRea & & dH—W =T &1
AT BT § 7

(@) RIS AR
(c) fear a9

Which one of the following
chemical formula of gypsum ?

(a) CaSO,-2H,0 (b) Ca,SiO,

(b) *rEREd TR
(d) & T
is the

() 2CaSO,-H,0 (d)

frforReg & @ oH—1 Regd &1
S g3 8 ?

(a) CaSO,-2H,0 (b)

CaSO,

Ca,Si0,
() 2CaSO,-H,0 (d) CaSO,

Thyroid gland produces a hormone
called ‘thyroxine’ which

(a) controls blood glucose levels
(b) controls ovulation

(c) controls metabolic rate

(d) maintains pregnancy

aag (UmRize) ufRr urgdifes e

U EMAE P IS Bl 8, S

(@) Y& H @I B WR DI AR
PRar g |

(b) e (Iregere) B B
PR 2|

(c) SUTH TR B AT PR B

(d) TTHTaRT B Y @& © |



45.

45.

46.

46.

47.

47.

Precursor of which one of the following
vitamins comes from [ - carotene ?

(b) Vitamin- C
(¢) Vitamin- D (d) Vitamin- K
e et & 9 59 @ @
T B-BRICH | Y 8 & 7

(@ flef& -A (p fdef@- c

) fdeifm— D (4 fRef=-

Who among the following was the
founder of the Young Bengal Movement ?

(a) Vitamin- A

(a) Henry Vivian Derozio
(b) David Hare
(c) Dwarkanath Tagore

(d) Prasanna Kumar Tagore

I T M= BT Yadd [rforad
¥ g P T ?

(a) B fafdes AR
b) s TWR

() EBRPHIY TR

(d) WS FAR SR

The Indian National Army/Azad Hind
Fauz was organized to fight against

(a) Germany and Japan
(b) British in India
(c) Japan

(d) Russia

WRAA TSR [/AmEE R oW @
Tod foe /foae feg o= @ forg
T T o ?

(@) STHAI TAT S

(b) ¥Ra # fafewr

(c) SIUH

(d w9

(B-7)
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48.

48.

49.

49.

50.

50.

51.

Who is the Current Chairperson of the
National Women Commission ?

() Mamta Sharma

(b) Rekha Sharma

(c) Vijaya Kishore Rahatkar
(d) None of these

AETY ARAT AT P AN 3reger
P E ?

(@ HHGT It

(b) X@T I

(c) faorar feeR w@eEHR
d TTH H P TE

The Nagarjuna Sagar Project is located
on which one of the following rivers ?

(b) Krishna

(c) Kavery (d) Mahanadi
IS R oREeEn, SefeRad
Afedl # & f5e @ W smafed 7 ?

(a) ETERY (b) P

(c) ST (d) ¥R

Which one of the following States in
India has the longest coastline ?

(a) Odisha (b) Tamil Nadu
(c) Gujrat (d) West Bengal

TRa & fA=foReg & & faa o &
IR 31 =y devEr & ?

(@) onfeem (b) CfAeTTg
() TISINIG (d) 9f¥=w e

The two provisions of the Constitution of
India that most clearly express the
power of Judicial review are

(a) Godavari

(a) Article- 21 and Article- 446
(b) Article- 32 and Article- 226
(c) Article- 44 and Article- 152
(d) Article- 17 and Article- 143



51.

52.

52.

53.

RGO & WU & < IYIw, S waifd

W WY 9 e qAdared @ afad

P! FTT B &, B 8§ ?

(@) IATHT— 21 TAT WS- 446

(b) SITWT— 32 TAT W~ 226

(c) IFTHT— 44 TAT ATDVT— 152

(d) IITWI— 17 TAT IWE— 143

Who among the following can attend the

meetings of both the Houses of

Parliament while not being a member of

either House ?

(a) The Solicitor General of India

(b) The Vice-President of India

(c) The Comptroller and Auditor
General of India

(d) The Attorney General of India

wae @ fder ff we &1 wew 9 gn

w A, fr=feifRea § & @19 W9e @ gF

AT BT BT H SURYT B FHar & ?

(@) ¥RA P QifeIlRIer S Re

(b) WRT BT IURTEUfT

(c) ¥RA &1 A¥=p Td Ferer@maders

(d) YRA BT AETIATS

Which among the following is not a basic

feature of the Constitution of India ?

(@) Fundamental Rights

(b) Independence of Judiciary

(c) Federalism

(d) The unquestioned right of the
Parliament to amend any part of
the Constitution

(B-8)
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. 93.

54,

54.

S5.

55.

fr=fafad 4 9 o “Ra @ W
©F MR faeivar & § ?

@) T B

(b) =aTIUTfTdT B F=ar

(c) Earg

(d) fu™ & FA f 9T B Feee
B DI I9e P fAfdare ufeg

According to the Census 2011, the
density of population in which one among
the following States is the lowest ?

(a) Sikkim

(b) Nagaland

(c) Arunachal Pradesh
(d) Mizoram

2011 & SO & IR fAfoRaa
T F W R wsg d wHwEr @

U <ATH & 7
(@) Rufdes

(b) RIS

(c) SRV F_T
(d) friten

Which one among the following
countries was the top contributor to
India’s total FDI for the year 2023-24.,

(a) Mauritius (b) Singapore
(c) USA
frfoRad # & @9—w1 & 9§ 2023-
24 # URG @ Fo TWodlodEo H
|atfs ARGt a9 of ?

(@) HRI™ (b) RITTR
(c) YoUdHoYo (d) S

(d) Japan



56.

56.

57.

57.

58.

58.

59.

Rs. 561 is to be distributed among A, B,
C in such a way that A gets Rs. 120
more than B and Rs. 120 less than C.
What is the share of B in this ?

(a) Rs.73 (b) Rs. 67

(c) Rs.76 (d) Rs.80

561 $o BT A, B, C # 39 yaKR faaRa
AT 8 f5 A @1 B ¥ 120 Bo 3ifq® dorr
C ¥ 120 Yo &H fAcl| THH B &1 91T
feam & ?

(a) 73 %0 (b) 67 %o
() 76 %o (d) 80 %o
Ifa:b=3:4and b:c=4:7 then
a+b+c
=7

c
(a) 1 (b) 2
() 3 d) 7
?-Tﬁa:b=3:4?r%ﬂb:c=4:7€f,Fﬁ
a+b+c:?

c
@ 1 (b) 2
() 3 (d) 7

Two numbers are in the ratio 3 : 4 and
their LCM is 84. What will be the larger
number out of these ?

(@) 21 (b) 24

(c 28 (d) 84

3 HER 3 : 4 D U W & @R bl
AYTH TG 84 2| TTH A TS FAT
a7 B ?

(@) 21 (b) 24

(c) 28 (d 84

A can finish a piece of work in 12 days. A
and B together can finish it in 8 days. In
how many days can B alone finish the
work ?

(a) 24
(€ 18

(b) 20
(d) 22

(B-9)
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59.

60.

60.

61.

61.

ATF B B 12 &9 # wH@ @R
HpaT 1 A T B ferer g9 8 few #
TS R FHA & | B BT 39 IA Pl
fram fo & w9y R Fapar & ?

(b) 20

(d) 22

(a 24
(c) 18
A can do a piece of work in 10 days, B in
15 days and C in 20 days. A and C
together worked for 2 days. After that B
was put on the job in place of A. In how

many days the work was completed in
all ?

(a) 12 days (b) 10 days
() ©days (d) 8 days

A fodt o @1 10 9 4, B, 15 k9 A
e c, 20 T ¥ g R wHar 1 A
qer ¢ faaer 2 T o faar | aarearg
AD RHE R B P S W® o fear
T | B fAee] wrf fea g # gw
g3 ?

(@) 12feF (b) 10 f&=1
() 6fe d) 8fed

Car A covered a distance of 448 km in 8
hours and Car B covered a distance of

110 km more than Car A in 9 hours.
The ratio of the speed of car A and car B

is respectively :
(@ 28:31 (b) 29 :32

(€ 55:2 (d) 62:55

PR A 7 448 fFflo & g 8 w0 # 77
P TAT PR B9 O H R A A 110
foHlo o1ftrd T T 1| BR A Td BR
B &I T &1 U HHI: —

(a) 28:31 (b) 29:32

(c) 55:2 (d) 62:55



62.

62.

63.

63.

64.

A lent Rs. 5000 to B for 2 years and Rs.
3000 to C for 4 years at the same rate of
simple interest. He received a total of
Rs. 2200 as interest from them, what is
the rate of interest ?

(@) (b) 7%

(©) (d) 10%

A & B &I 5000 %o 2 9§ & forg @om ¢
DI 3000 To 4 I & forU RO =TT
D UP B X W SuR Y| S S
S S D WY H R 2200 To UK
5 | = @ aiffe =) fpar ® ?

(@) (b) 7%
(c) 10%

A sum of money amounts to Rs. 8028 in
3 years and Rs. 12042 in 6 years at a
certain rate of interest, when the
interest is compounded annually. What
is the principal amount ?

(@)
() Rs.5643 (d) Rs. 4596

o AREa gfoea =7 g% 4R 3 9§t A
g W 8028 BN B 3R 6 aut H
12042 %o B Gl 8, 94 & q¥E
w9 | FAfT B 8 | go IR @ g ?

09352 Yo

5%
8%

5%

8% (d)

Rs. 5352 (b) Rs. 4569

(a)
(c)

A man travels a certain distance by a
motorcycle. If he had travelled 6 km/h
slower, he would have taken 8 minutes
more. But, if he had travelled 4 km/hr

(b) 4569 To

5643 %o (d) 4596 %o

he would have

faster, taken 4%—

minutes less. Find the distance.
(a)
(c)

66 km
76 km

(b) 68 km
(d) 72 km

(B-
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67.

68.

64. Ud faa Alex AEipd §R1 (@ AlReEd
T AT © | IR 98 6 fFlo /Hver
R goar @ S9 8 fAme affre o
W=y, IR a8 4 fHlo /=ver a1 Terar
S 4% e &9 ol 8 9.
DY |
(@) 66 fdHlo (b) 68 o
(c) 76 fdHro @ 72 fFo
65. (257-1.68)=2
(@) 023 (b) 031
() 06 (@ 038
65. (257-168) & A FT & ?
(@) 023 (b) 0.41
() 06 d 038
Direction (66-69) : Read the following
information carefully and answer the

questions given below it :

Six persons A, B, C, D, E and F are

sitting in two rows, three in each.
E is not at the end of any row.
D is second to the left of F.
~ C, the neighbour of E, is sitting diagonally
opposite to D.
B is the neighbour of F.
66.

Which of the
diagonally opposite to each other ?

(@ FandC (b) Dand A
(c) AandC (d) AandF

Which of the following are in the same
row ?

(@ AandE (b) EandD
(c) CandB (d) Aand B

Which of the following are sitting in one
of the two rows ?

(a) FBC
() DBF

following are sitting

(b) CEB
(d) AEF



69. After D and E interchanging seats, who
will be the neighbours of D in the new

position ?
(@ CandA (b) Fand B
(c) OnlyB (d) Only A

fdwr  (66-69) : fa=feiRaa =N Bt
HAEYHIgEd U@ SR A Ry U uwAl @
IR T

B &fdd A, B, C, D, E 3R F @
tfaal # 98 § ude ufed § O afd 99
gl
E f&dr 4t dfag @ R & 98Y dor1 2|
F & a TR% ORI Afdd D 93T &

E® Y9 HCISTE ST DD AHEA P OB
faeofa: farda Ser1 2 |

F 3 99 B 0T &

66. folad % ¥ dF-—W T& TR &
I faeola: fada e 8 ?

@ F3RC (b) D3RA
) A3RC (d) ASRF
67. fr=faRed # & @9 ta & dfda § &
g7
(@) AJNRE () E3RD
) c3RB (d A3IMNRB
68. fAfoiRed # & diF—wT a1 ufdwal 4 9
TH H S § ?
(a) FBC (b) CEB
(c) DBF (d) AEF

69. D 3R E & WMl & IJTA—-dgcll B
g€, U WM R D @ U9 Piq 961 & ?

(@ C3RA
(c) PIaB

(b) F3RB
(d) PITA

70.

70.

71.

71.

72.

72,

(B-11)
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A and B are brothers. C and D are

sisters. A’s son is D’s brother. How is B
related to C ?

(a) Father (b) Brother
(c) Grandfather (d) Uncle

ARBYEEICcARDEEA &1 A @I
9eT D @1 g B B, C ¥ fo9 yor
Hefea g ?

(@ foar
(¢) <TaT

(b) #Tg
(d) ==
A, B and C are sisters. D is the brother

of E and E is the daughter of B. How is
A related to D ?

(b) Cousin

(c) Niece (d) Aunt

A, B3R C 984 €1 D, E &1 4§ 8 3R
E, B @ ¥4I 81 A, D 9 o9 R
wefeT € ?

(@) F&A (b) T qBA

(c) o (d) =Y

A and B are married couple in which B
is husband. X and Y are brothers. X is
the brother of A. How is Y related to B ?

(a) Sister

(a) Brother-in-law

(b) Brother

(c) Cousin

(d) None of these

A 3R B faaifed Sirer 8, o+ B ofd

?IXWY"-’I‘I‘&‘%IX,AWW@?IY,
Bﬁf&sﬁmw'@ﬁ%?

(a) Tl
(b) TS

(c) ORI HIS
(d) 37 BIg TE



Direction (73-75) : In each of the
following questions, find out how many such
pairs of letters are there in the given word,
each of which has as many letters between
them in the word as is/are between them in
the English alphabet.

73. BRIGHTER

(a) One (b) Two

(c) Three (d) Four
74. HACKLE

(a) One (b) Two

(c) Three (d) Four
75. PICKLE

(a) Two (b) Three

() Four (d) Five

fadwr (73-75) : F=foiRaT & 9 v
g # Ry 7 g F quif @ 0 fhaw oS
g e 9 Sav & aof € Rwem 5 sreh

qofqrerr ® g7 S B & ?
73. BRIGHTER
() TP (b) &
(¢ o= d IR
74. HACKLE
(&) TP (b)
(¢ o (d) IR
75. PICKLE
(a) A (b) T
(© ¥R (@ 9=

76. Junk E-mail is also called

(b) Spoof
(c) Sniffer script (d) Spool

76. Si® S D gE W Bl Wl © ¢
(@) ¥ (b) WP
(0 ¥ e (@) W«

(a) Spam

77. Data transfer rate in networks or
modems is measured in

(a) Bits per minute
(b) Bits per second
{c) Bandwidth
(d) None of the above
77. Ycaed I RS A Sl WIMIRY R
AT ST B
(o) fdew ufd B=e 4
b) fIew ot dave #
() Sefasy 4
() SRIGT H | BIg 7L

78. A video consists of a sequence of

(a) Frames (b) Signals
(c) Packets (d) Slots
78. U@ AT oo, D A U AR
g B |
(a) W= (b) Ry
€ UacH (d) el

Ly

79. Which of the following is/are word
processing software ?

(a) WordPerfect (b) Google Docs
(c) MS Word (d) All of these

79. fFr=fafRaa & @ @91 W= dW9ES
HAFedar & ?
(a) JSIRBIS

() MSdTS

(b) T S
(d) 79 | wd

80. The types of software used to carry out
tasks, such as writing a letter, is called :

(a) GUI software
(b) Utility software
(c) Application software

(d) System software

(B-12)
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80.

81.

81.

82.

82,

83.

83.

84.

T divcdly o foxll e @1 @
A B oy yae fear o 8, o e
u5 forg, FEen ©
(2) GUI TR
(b) FRferd) digedr 84.
() TeHHIT ATeddr
(@ Fed diveaR
Which of the following is not a computer
language ?
(@) BASIC (b) COBOL
(c) LOTUS (d) FORTRAN
e § § P drgex # T 8 8 | 85
(a) BASIC (b) COBOL
(c) LOTUS (d) FORTRAN
Which of the following is not a web
browser ?
(a) Yahoo (b) Opera
(c) Chrome (d) Mozilla firefox 85.
fr=folad 4 ¥ 991 (6 9 ISR
TR ?
(@) ATE (b) SfTaRT
() M (d) AT BRRGEH

domain is usually used for 86.
educational purpose.
(@) .in (b) .org
() .com (d) .edu
......................... ST amEER wR - fRrerer
IRE B Qg gy €ar g |
(@) .in (b) .org ¥
(c) .com (d) .edu
Which of the following components of a
computer system, manages and
coordinates the operation of all the other
components ?

(B-13)
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(a) Input Unit

(b) Output Unit

(c) Control Unit

(d) Arithmetic Unit

e & @ 29 drgex e 4 ger
D T "CHl BT UG g HdTeT oAl
AT BT HTF BT & ?

(2) SIS FBIS
(b) 3MSTYE FHTE
(c) PEIS $BIS
(@) HfeH g

JPEG stands for
(a) Joint Professional Experts Group
(b) Joint Program Evaluation Group

(c) Joint Photographic Experts Group

(d) Joint Photographic Experienced
Group
JPEG T favar 8-

(@) TATEE MBI YaHUCH U

(b) TATES FUT FIRIAT YT

() TIEE W TFISH U
(d) TITSC WIeHthd TaRTUIRGES U
URL stands for

(@) Uniform Research Limited

(b) Uniform Resource Locator

(c) Uniline Resource Labs

(d) Uniform Research Locator

URL ¥T faaR 32—

(@) gFwE Red fafics
(b) AW RERT drdex
() IfFersT REd o=

@ g Red deex



87.

87.

88.

88.

89.

Spreadsheet files are generally stored 89,
with an extension-
(a) .doc (b) .xsl
() .xcl (d) .xlsx
BT BIgel WA oo frmR
@ Wy weRa et & 90.
(a) .doc (b) .xsl
(c) .xcl (d) .xlsx
Intersection of rows and columns in
spreadsheet are called
(a) Box (b) Cells
(¢) Line (d) None of these
Bredle ¥ ufeal ik wW @ ufoeses -
BT FET I & — '
(a) dfaw (b) W
(c) wmET (@) T B TE

is a compression technology for
transmission of video.
(@) JPG (b) MP4
(c) MPEG (d) 3GP

(B-14)

102

TEHE 2 |
(a) JPG (b) MP4
(c) MPEG (d) 3GP

............ is a chip which performs
arithmetic and logical instructions in
CPU.

(a) Main memory
(b) Microcontroller

(c) Microprocessor

(d) SDRAM
................. s fag & & Wy § afrhe
3R difes e Aeafed a=er 21

(@ AT FER

(b) HTSHIBEIR

(c) HTSHIHETR

(d SDRAM
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ﬁaaﬁmaﬁmgﬁﬂm@aﬁaﬁﬁwwaawq@ﬁl

qRKIeT AT YRk el

— B

iR w9 : 2 B 3F : 90
wenfi @ fov A

10.

e I BN D X a5 el 7w gRREd 7 o fF 37 yE-gRkeT g 16 gl B @ T
et ff wR ¥ amfed 1 B &% T ¢ W D T Sy B onfy ve T ¥ AR Y g,
Al W W NEe I TeA-gRaET | 989 o 9|

B! T I Fe-gRaw ¥ FWR Ry T @ # WA 7 59 dfReE seE-gRae |
75 A 7 ford iR et yoR a1 erTraREeE R T TR

il 31 SUeel WA ¥ OMR Sheet ¥ aifeq geam fuiRa WM ® wen % 89 «
74 W} AR R yeR @1 eravEe e e e § | omaws <y OMR Sheet W
SUE % |

T SRR & @ forg FeiRd w@ Mot @ @ @1 A diedizT 9 AR W T 4 A
el a fRifed 7 | T ¥ f¥E Mol o SR & w9 A fafed F W IG TR DI Terd AT
ST |

39 e-gRa@ # /A ff = B o 7 | W, OMR STR- @1 G Qg Bl
v < | STt TeT-\EIT B 9% FE-YRAPT N | o W B SAFA & |

T JE-GRTH ¥ g 90 WA B | UG T @1 AN 1 3 8| Ted SR B fo¢ BIE 3@ Tl
PIC T |

A 1, T, T aieRy U9 dRge] @ g fRwd) ud il Qe A § | afe afuel H gfed fadt
Te 3R SuD R are #§ B Mwar &), aF 3l # gfed v € A g

59 FeI-gikreT 3 6 a1 @ i @ g% B M ¥

T B ¥ dogeey, FIE T /T, ANEA GBI Al eldg e SUG WY A Y@ Td
DT SUINT FRAT AN & |

areffTor 5 9o 9 oraTd & 5 OMR Sheet &1 Jedie gadgie 7 R & &1 © |
aed, OMR Sheet R el @ 98 a¥id ¥ W g 729 390! T8 Ug IR 3R [
T IR TR | 39 Y @1 HERE: We 7 Bye @Y orwen # sneft g foRl W RieaR
Gl

Note : English Version of the instructions is printed on the First Page of this Booklet.
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Soaps clean surfaces on the principle
based on

(a) viscosity (b) floatation

(c) elasticity (d) surface tension
|gT & gRI Fael B AH DA DI
g amnRRa &

(@) ¥IMHCAT WX (b) wIgq WX

(€ VAR R (d) TS qTE W
Which one of the following waves is used
for detecting forgery in currency notes ?
(a) Ultraviolet waves

(b) Infrared waves

(c) Radio waves

(d) Microwaves

X ARt H STl B UgaE dRA
& fory Frefafad § @ PA- it 31
TN BT 8 7

(@) URTSTEI G¥9 (b) STaREd A%l

(c) ~fea < (d) eH T
Which one of the following is the
chemical formula of gypsum ?

(@) CaSO,-2H,0 (b) Ca,SiO,

(c) 2CaSO,-H,0 (d) CaSO,
f=feRag & 9 oF—1 Rrem o @
RrErafe I 8 ?

(@) CaSO,-2H,0 (b) Ca,SiO,

(c) 2CaSO,-H,0 (d) CaSO,

Thyroid gland produces a hormone
called ‘thyroxine’ which

(a) controls blood glucose levels

(b) controls ovulation

(c) controls metabolic rate

(d) maintains pregnancy

(C-3)
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4.

Fag (EmRigs) afr urgRifR e

U% BHEME &1 SHTGH HIal 8, S

(@) Xad ¥ T@Ia & wWR B I
P B

(b) IS (3iregere) @ A
HaT B

(c) SUTEd g% B AT BRar 2

(d) TTHERRAT B FATT W & |

Precursor of which one of the following
vitamins comes from B - carotene ?

(b) Vitamin- C
(¢) Vitamin-D (d) Vitamin- K
frafofea faef®=t & @ 59 @ @
AT p-PRIEH | U< BT & 7
(@) fef@—a () fRef@#- c
 fef"-bp (@ fRefE-k

Who among the following was the
founder of the Young Bengal Movement ?

(a) Vitamin- A

(a) Henry Vivian Derozio

(b) David Hare

(c) Dwarkanath Tagore

(d) Prasanna Kumar Tagore

T A MRIAT BT Jadd feforad
qH DA AT ?

@ T RAREE Ry

(b) SfIs &R

(c) ERGMIY SR
(d) ¥ FIAR AR

The Indian National Army/Azad Hind
Fauz was organized to fight against

(a) Germany and Japan
(b) British in India
(c) Japan

(d) Russia



10.

Bl
Ed

XA TS [ /3 R
Tod foe /feas foog o=
fpar Tar o1 ?

Eal
ferg

(@) T AT STAH
(b) wd ¥ fafews
(c) MU

(d |

Who is the Current Chairperson of the
National Women Commission ?

()

Mamta Sharma

(b) Rekha Sharma
(c) Vijaya Kishore Rahatkar
(d) None of these

I ARl ARTT B qeHA  eal
B 8 ?

(@) FHGT IHI

(b) @& ¥Hi

() fasmn freiR tETeaR
@ T F PIE TE

The Nagarjuna Sagar Project is located
on which one of the following rivers ?

(a) Godavari (b) Krishna

(c) Kavery (d) Mahanadi
A WR aRkareEn,  fereferRad
el § 9 e U R IaRerd & ?

(a) TR (b) P=T

() T (d) e

Which one of the following States in
India has the longest coastline ?

()
(c)

102

Odisha (b) Tamil Nadu

Gujrat (d) West Bengal

(@

4)

10.

11.

11.

12.

12,

Rad & fAAfafed § 9 59 =@ A
99 AfF T devEr g ?

anfeem (b) TfAerETg
ORI (d) uf¥=™ e

The two provisions of the Constitution of
India that most clearly express the
power of Judicial review are

(2)
()

(a) Article- 21 and Article- 446
(b) Article- 32 and Article- 226
(c) Article- 44 and Article- 152
(d) Article- 17 and Article- 143

YRA & GfAUE & 3 SUg=, ol |aifts
WE w9 W AR gAfdered o wfed
P IR PIA &, PIT—H & 7

(a) IATWI— 21 TAT ATWVI— 446
(b) SFTBE— 32 TAT ATWa— 226
(c) OTITBT— 44 TAT AJWVI— 152
(d) IFWT— 17 AT FWI— 143
Who among the following can attend the
meetings of both the Houses of

Parliament while not being a member of
either House ?

(a) The Solicitor General of India

(b) The Vice-President of India

(c) The Comptroller and Auditor
General of India '

(d) The Attorney General of India

e @ fdl WY 9eq &1 "4ew F 'W
) ff, A=RiRad d§ @ &9 99g & THl
Al P d8a § SuRed 8 Hohar & 7

(@) WA BT AiferIex SR

(b) HRA & S
() ¥Rd B AUFE T4 AgTeraTaNie®
(d) HRT P FAETIAS



13.

13.

14.

14.

15.

Which among the following is not a basic

feature of the Constitution of India ?

(a) Fundamental Rights

(b) Independence of Judiciary

(c) Federalism

(d) The unquestioned right of the
Parliament to amend any part of
the Constitution

frforRea # & @A 9Ra & HdldgE

@ e faRar =€ 2 7

(a) ¥ ARDBR

(b) =ATIUTITHT B T

(c) e

(d) W & Y ff R @ HuRE
IR B wHg B [Afdarg afdd

According to the Census 2011, the

density of population in which one among

the following States is the lowest ?

(a) Sikkim

(b) Nagaland

(¢) Arunachal Pradesh

(d) Mizoram

2011 @ SFIUET & AR fAefoRed

R L R s M v S B s

T A © 7

(@) fafds

(b) TS

(c) 3rRUITES Wl

@ g

Which one among the following

countries was the top contributor to

India’s total FDI for the year 2023-24.

(a) Mauritius (b) Singapore

(c) USA (d) Japan

(C-5)
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15.

16.

16.

17.

17.

18.

18.

fr=fafag & @ H9-<1 Ud a9 2023-
24 ¥ WRA @& FHA UHoIlodfgo ¥H

Hatfere ATeEar AT o ?

(a) HIREA (b) RETGR
() JoT¥olo (d) SIEE
Junk E-mail is also called

() Spam (b) Spoof
(c) Sniffer script (d) Spool

Sid A DI I8 W PEl ol @
(a) ®H (b) ¥®
() wex fpe  (d) o

Data transfer rate in networks or
modems is measured in

(a) Bits per minute
(b) Bits per second
(c) Bandwidth

(d) None of the above

AR g1 Ao H SIeT RIFIARY &%
A1) STl ®

(a) focw fa fAee A
(b) fAcw ufy dBvs H
() defager #

(d) SRT A A DS TE

A video consists of a sequence of

(a) Frames (b) Signals
(c) Packets (d) Slots

Th AR ..o B A F ASTBR
g B |

(a) W™ (b) R

() UdeH (d) wicH



19,

19,

20.

20.

21.

21.

22.

Which of the following is/are word
processing software ?

(a) WordPerfect (b) Google Docs
(c) MS Word (d) All of these
fefafea & @ aF-A1 TR ARG
HIFCdR & ?

(a) TSIRWET (b) LT St

€ MSTE () T ¥ Wl
The types of software used to carry out
tasks, such as writing a letter, is called :
(a) GUI software

(b) Utility software

(c) Application software

(d) System software

g8 dieaR R 5l e & @@
A @ forg AT far i ', o fF
w3 forg, deerar @

(@) GUI AfTedaR

(b) gfeferdt diredr

(c) Q"?'ﬁff}w AIFEITR

(d) Rved diredmx

Which of the following is not a computer
language ?

(a) BASIC (b) COBOL

(c) LOTUS (d) FORTRAN

e | PH- FgeR A AT TE 27
(a) BASIC (b) COBOL

(¢ LOTUS (d) FORTRAN
Which of the following is not a web
browser ?

(a) Yahoo (b) Opera

(c) Chrome (d) Mozilla firefox

(C-6)
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22.

23.

23.

24.

24,

25.

fF=fafad § 9§ @91 U@ 98 ISR
W
(a) JTg
(c) A

(b) ST
(d) FAST BRRGTRT

domain is usually used for
educational purpose,

(@ .in (b) .org
(c) .com (d) .edu
el @ forg gy g g |
(@) .in (b) .org
(¢) .com (d) .edu

Which of the following components of a
computer system, manages and
coordinates the operation of all the other
components ?

(a) Input Unit

(b) Output Unit

(c) Control Unit

(d) Arithmetic Unit

= # /P ger Rvew d drgex
@ W "THl BT Y g FEe qdl
I B B Bl § ?

(8) FTYC TR
(b) STSTYE TP
(c) BgIdt SBIY
d) srefRfeeE gHrE

JPEG stands for

(a) Joint Professional Experts Group
(b) Joint Program Evaluation Group
(c) Joint Photographic Experts Group

(d) Joint Experienced

Group

Photographic



25.

26.

26.

27.

27.

28.

28.

JPEG & faR 8-

(2) TAEC MBI TIEUSH q
(b) SETEE YU degUA YU

© OEE BTG e I
(d) TATEE BIEHThd THUIRGTS U
URL stands for

(a) Uniform Research Limited
(b) Uniform Resource Locator
(c) Uniline Resource Labs

(d) Uniform Research Locator
URL &7 fA&IR 3—

(@) IAwHE REd s

(b) IF®H RENT didex

() gfremg REN oisa

(@) FFAeH REd dmex

Spreadsheet files are generally stored
with an extension-

(a) .doc (b) .xsl

(¢ .xcl (d) .xlsx

vl BIgel AFTR: e frR
@ I HeIRT BT € |

(@) .doc (b) .xsl

() .xcl (d) .xlsx

Intersection of rows and columns in
spreadsheet are called

(@) (b) Cells

(c) (d) None of these
Wedle ¥ dfdal iR wHl & yfdeeed
B HET AT & —

(a)
()

Box

Line

CIER] (b) e
KIEk] (d) T Dl T8I

102

(C

4?)

29. is a compression technology for
transmission of video.
(@) JPG (b) MP4
() MPEG (d) 3GP
- R A & TR & Ry wlre
T&a 2|
(@) JPG (b) MP4
() MPEG (d) 3GP
305 o is a chip which performs
arithmetic and logical instructions in
CPU.
(a) Main memory
(b) Microcontroller
(c) Microprocessor
(d) SDRAM
B0 wemmmas v g 8 S ddg § iR
3k e fcw fFefed ol 2|
(@ A9 AARY
(b) HTEHIBLIER
(c) TSI
(d) SDRAM
fdsr  (31-35) : f=fola # 9 g
qoe qTel Weq BT TAA BT
31. (@) RS (b) TIETRS
(c) ARG (d) daER®
32. (o) WIgHId (b) wTgHfa
(c) wTgHE (d) TRIgRHIE
33. (a) ATUTTIIT (b) ST
(c) IR (d) smearefa
34. (a) ST (b) 3T
(c) SrgaET () IrgHaT



35. (a) SHfcrergfa (b) orcfreafaa
(c) rfreaTaRiT (@) sifererafa
frder (36-40) : FfoiRaT wg wEl @
for v v T Ry v et § & gH-
36. ra®T o= 7 81—
(a) orST=T (b) 3R
() omfe @ fao
37. WA I 90T I@F qTell—
@ fag (b) forsmg
() R (@ =i
38. 98 9w Wil ARG B
(@) TRR (b) RTRIT
() 3R (d) Ireilfds
39. S f&dY @1 fRq =rear 81—
(2) focerY (b) SfEaamd
€ fead CURESEIN
40. ST WA aTelT—
(@) STcUE (b) dgsl
(© 7T (d) =

e (@41-42) : FfafRea geraRi/
drepifderal &1 aef I Ry U et §
T
41. ST BT BT T GIAT BT 3k B
CLICICRVIE |
GR XETT
T SHERT BT

e ST

(a)
(b)
(c)
(d)
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42. HRY YRET FT ot 3
(b) YT QAT

(c) O (d) =TT =l 1

fadw (43-46) : F=fRag sgaRor @1
Sl oEd @ fAaRER 8, Ry Ty fawet &
¥ gfg-

TG AT B ged ¥ ue 2w,
3T I P AP TAT AT B Uy 99 3R
A FES & BT B | IE U R, 3T
S SR ST @ forg wron @1 S
P P Wed dOR Al gl RN 2w @
il @ g3 A I8 Sl wiaer FE g
& T, W Be] AT gE-wifa iR
g |1 @ foiv @ Joar 2| yMfaa @ik
qrdwfe fRa & o Uiy wes @1 sifaa
gl 98 X8 Hohdl| T§ WA S 39 919 Bl
9ge R B IRT Bl B 5 a7 =y @
Secil DI e B S B AR B, e
R RerR W R = @ foy = 99 @
g UgaeR SR WM SoMT Uded
IFEFR FR T, AU T P Y doE A
TG ArSH] 9 O 7 T |

43. YR I @ o 8-
3o wafE
39T AT
(c) 3NT=T ST HIGAT
(d) T AT—ATT
e BT el e o
(a) T FEH
(b) TSR
I B U F
T D gE—-ifa

(a) HAXHAT

(a)
(b)

44,

(c)
(d)



45, YA® TCIHAF & ged H AW g

s
(@) < B "y @ g
(b) < @ gE—wifd & g
() T P A & fog
@ T P " B frg

46. IMfFT URT FHEA B
(@) 3FIfg BT AR F=A B forg
(b) orUTg Y oeA @ forg
(©) IR T 8 o B forg
(d WA @ oY g PR 8
fader (47-48) : f=foRed vl @

ARt Ieg @1 Tae S99 ey v fAwent ®
Jq BT —

47. =
CIIET (b) a2
( fa (d) BT
48. XTIl
() = (b) @Es
€ <« (d) 3T
fder (49-50) : f=foRea ol &

faeim wreg @1 TEe 9o feu Y fAeet ® &
-

49, ZRUITHD
(@) GATHD (b) Romei®w
(c) HIATHE (d) HATHD
50. 3
() WET AHEF (b)) IR
(c) 3T (d) sfererg
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Direction (51-54) : Read the following

information carefully and answer the

questions given below it :

Six persons A, B, C, D, E and F are
sitting in two rows, three in each.

E is not at the end of any row.
D is second to the left of F.

C, the neighbour of E, is sitting diagonally
opposite to D.

B is the neighbour of F.

51. Which of the following are sitting
diagonally opposite to each other ?
(@ FandC (b) Dand A
(¢ AandC (d Aand F

52. Which of the following are in the same
row ?
(@ AandE (b) Eand D
(¢ CandB (d) Aand B

53. Which of the following are sitting in one
of the two rows ?
(a) FBC (b) CEB
(c/ DBF (d) AEF

54. After D and E interchanging seats, who
will be the neighbours of D in the new
position ?
(a) Cand A (b) Fand B
(c) OnlyB (d) Only A

fAdwr  (51-54) : =faRad gEmmRl @t
grayHgds u¢ AR A Ry e weE @
SR T -

ve @fdd A, B, C, D, E 3R F &
tferal § 9 ude dfem H# 99 &fem 9
g
E fpdY ot ufed & feR # 781 91 2 |
F & a0 TR g% Afed D o7 2|
E® U A CISTE Ol DD AHEA & TRE
faeofa: o Sor 21

F& U9 B JoT B



Sl

52.

53.

54.

55.

55.

56.

Preafofes § ¥ @ @ TR B
e fapoia: R{ada de1 & ?

@ F3RC (b) D3RA
) A3RC (d) AIRF
frfead & & @19 e & ufed | 99
g7
@) A3RE
(0 C3RB

frfoRag § ¥ #F—31 <) dfeaal 4 @
TH HISE?

(@) FBC

(b) E3RD
(d A3IRB

(b) CEB
() DBF (d) AEF

D 3R E & WMHE & ASAT—dgell B
98, ¢ WIH R D & 9 B9 98T & 7
(@) C3RA (b) F3RB

() ®adaB (d) PIAA

A and B are brothers. C and D are
sisters. A’s son is D’s brother. How is B
related to C ?

(a) Father (b) Brother
(c) Grandfather (d) Uncle
AINRBHEEICIRDEAE AT | °F
9T D @ 9E | B, C ¥ &9 yoR
Haftra g ?
(a) foa (b) ¥ 59.
(c) <TaT (d) ==l
A, B and C are sisters. D is the brother
of E and E is the daughter of B. How is 60.
Arelatedto D ?
(a) Sister (b) Cousin
(c) Niece (d) Aunt

(C-10)
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56.

57.

o7.

A, B3R C 981 €| D, E &T ¥T§ & 3R
E, B & ¥ 8| A, D ¥ 59 UoR

wefera 8 7
(@) FBA (b) WY qBF
(c) ST (d) =

A and B are married couple in which B
is husband. X and Y are brothers. X is
the brother of A. How is Y related to B ?

(a) Brother-in-law
(b) Brother

(c) Cousin

(d) None of these

A 3R B faaRa wrer 8 o9 B ufd
BIXARYWE &I X, AT HE BIY,
B ¥ &9 yeR Hafda 8 ?

(a) STel (b) TS
(c) FERT WIS (d) 379 B T

Direction (58-60) : In each of the

following questions, find out how many such
pairs of letters are there in the given word,
each of which has as many letters between
them in the word as is/are between them in
the English alphabet.

BRIGHTER

(@) One (b) Two
(c) Three (d) Four
HACKLE

(@) One (b) Two
(c) Three (d) Four
PICKLE

(@) Two (b) Three
(c) Four (d) Five



fAder (58-60) : F=feed & ¥ WR®

v H Ry 17 e A quif B QR fFew o

g e @a 5o & oof & R f5 aireh
o ¥ 30 AN € ?
58. BRIGHTER
(@ TP (b) =
(¢ = (d) IR
59. HACKLE
(@) T® (b) =
(¢ o= d IR
60. PICKLE
(@ = (b) =
() TR (d) 9=
61. Rs. 561 is to be distributed among A, B,

61.

62.

62.

C in such a way that A gets Rs. 120
more than B and Rs. 120 less than C.
What is the share of B in this ?

(@) Rs.73 (b) Rs. 67
() Rs.76 (d) Rs. 80

561 %o B A, B, C ¥ 39 YPR faaRkq
& 2 f5 A B B ¥ 120 Bo 31f¥F qorr
C ¥ 120 Yo &9 fAel| g9 B P 9T
foaa g ?

(a) 73 Fo (b) 67 Bo
(c) 760 (d) 80 %o
fa:b=3:4and b:c=4:7 then
a+:+c:?

(@ 1 (b) 2

) 3 d 7

A a:b=3:4TqMb:c=4:78
a+b+c=?
c
(@ 1 (b) 2
© 3 (d) 7

63.

63.

64.

64.

65.

65.

(C-11)
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Two numbers are in the ratio 3 : 4 and
their LCM is 84. What will be the larger
number out of these ?

(@) 21 (b) 24
) 28 d) 84

< WA 3 : 4 B AU § § qA I
TYTH FHIYG™ 84 B TR W <) W=
T gRfY ?
(a) 21
(c) 28

(b) 24
(d) 84
A can finish a piece of work in 12 days. A
and B together can finish it in 8 days. In

how many days can B alone finish the
work ?

(a) 24 (b) 20
(c) 18 (d) 22

AT B B 12 R A www ow
HHel 21 A T B fAeTex 39 8 9 &
IS B HHd & | B Dol 59 Brd B
feam i A 99" R |par & ?

(a) 24 (b) 20
(c) 18 (d) 22

A can do a piece of work in 10 days, B in
15 days and C in 20 days. A and C
together worked for 2 days. After that B
was put on the job in place of A. In how
many days the work was completed in
all ?

(a) 12 days (b) 10 days

(c) 6days (d) 8 days

A f&dl od @1 10 R9 #, B, 15 *9 &
T C, 20 foF ¥ g1 R Foar 21 A
dur ¢ faerer 2 fRF a1 | aarwEg
AD E R B B dF W) o =T
T | For AemaR @ e R § g
B3I 7

(@ 12f3F (b) 10fe=

) efe= (@ 8fe=




66.

66.

67.

67.

68.

Car A covered a distance of 448 km in 8
hours and Car B covered a distance of
110 km more than Car A in 9 hours.
The ratio of the speed of car A and car B
is respectively :
(a) 28:31 (b) 29:32
(c) S55:2
BR A 7 448 fpflo 3 g0 8 wC A T
P T BR BT 9 g HBR AW 110
fdlo @ g T4 @1 | BR A Td B
B &1 T T (U HHAI: —

(d) 62:55

(@) 28:31 (b) 29:32

() 55:2 (d) 62:55

A lent Rs. 5000 to B for 2 years and Rs.
3000 to C for 4 years at the same rate of
simple interest. He received a total of
Rs. 2200 as interest from them, what is
the rate of interest ?

(@) 5% (b) 7%

© 8% (d) 10%

A 9 B B 5000 Bo 2 94 P forw @1 C
BT 3000 Bo 4 q¥ B U HEROT =TT
P TF B W W YR A I ST

I H I D WY A FoT 2200 To U
5 | =re @) afffe <% fa = ?

@ 5% (b) 7%

(c) 8% d) 10%

A sum of money amounts to Rs. 8028 in
3 years and Rs. 12042 in 6 years at a
interest, when the
interest is compounded annually. What

certain rate of

is the principal amount ?
(a) Rs. 5352 (b) Rs. 4569

(c) Rs. 5643 (d) Rs. 4596

102
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68.

69.

69.

70.

70.

T fAfed wfrerd e &) w3 auf A
TP V¥ 8028 B WK ® 3R 6 auf H
12042 To B NI & WE &N qNG
w9 | A gar 8 | g ¥ wr @ ?

(a) 5352 %o (b) 4569 Bo

() 5643 o (d) 4596 Fo

A man travels a certain distance by a
motorcycle. If he had travelled 6 km/h
slower, he would have taken 8 minutes
more. But, if he had travelled 4 km/hr

faster, he would have taken 4%

minutes less. Find the distance.
(a) 66 km (b) 68 km
(c) 76 km (d) 72 km
TF Afd Ay wEfed g) te Afed
R T FRaT 2| AR 98 6 o /Hved

R TaT o 99 8 e A |
Ry, I a8 4 falo /gver a9 Fefan

ﬁ@4%ﬁﬂ€iﬁqaﬂﬁ|§ﬂﬂﬁ
BT |

(@) 66 fdHHlo (b) 68 fdHHlo
(c) 76 fdHo (d) 72 f&Ho
(257-1.68)=2

(@ 023 (b) 0.41

(c) 06 (d 0.8

(257 -1.68) @1 W m ] ?
(@) 023 (b) 0.41
(c) 06 d 0.8

Directions (71-74) : Read the passage

and then answer the questions based on it.
You are required to select your answers
based on the contents of the passage and
opinion of the author only.



PASSAGE

The rule of the road means that, to
protect everyone’s freedoms, we must
sometimes restrict individual freedoms. When
a policeman steps into the road and raises
his hand to stop traffic, he is not acting as a
tyrant but as a protector of freedom. By
accepting small limits on personal liberty, we
can create a society where freedom is real for
everyone. We must preserve both our
individual freedom and our social freedom.
This requires a thoughtful balance. While no
one should tell me exactly what my child
must study, if I were to say my child should
have no education, society would step in and
insist that my child must go to school,
whether I like it or not.

71. What does “the rule of the road” suggest
in the passage ?

(a) Freedom should not be restricted
at any time.

(b) Individual freedoms must
sometimes be limited to protect
everyone’s freedom.

(c) Only policemen have the right to
restrict freedom on the road.

(d) Freedom cannot coexist with rules.

72, According to the passage, when a

policeman stops traffic, he represents
(a) tyranny (b) power
(c) freedom (d) fear

73. The author suggests that society would
intervene if

(a) a parent wants his child to attend
a specific school

(b) a parent insists that his child
should not receive any education.

(c) a child prefers studying science
over arts,

(d) a child wants to study abroad.

74. What is required to maintain both

individual and social freedom, according
to the passage ?

(a) A strong government.

(b) Complete  individual
without limits.

freedom

() A balance between individual and
social freedom.

(d) Restrictions on only social

freedom.

Directions (75-79) : In the following
questions, out of the four alternatives, select
the word nearest in meaning to the words
given.

75. Ostentation

(a) Calmness (b) Equanimity
(c) Declaration (d) Pageantry
76. Primordial

(a) Feeling of elation

(b) Small

(c) Elementary

(d) Daunting
77. Massive

(a) Enormous (b) Erroneous

(c) Hazardous (d) Perilous

78. Stubborn
(a) Observant (b) Obnoxious
(c) Obstinate (d) Corpulent

79. Astronomical
(a) Exorbitant (b) Commercial
(c) Durable (d) Illogical
Directions (80-84) Choose the

alternative that is most nearly opposite in
meaning to the given words.

80. Anathema
(b) Cursed
(d) Obstacle

(a) Appreciation

(c) Protection

(C13)
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31.

82.

83.

84.

Opaque

(a) Vague (b)
(c) Transparent (d)
Belittle

(@) Allure (b)
(c) Ascend (d)
Inclement

(a) Pleasant (b)
(c) Feeble (d)
Vanity

(@) Humility (b)

(c) Ostentation (d)

Directions (85-87) :

alternative which best expresses the meaning
of the given idioms/proverbs :

85. To move heaven and earth

(a) to pray earnestly

(b)
(c) to sing beautifully

(d) None of the above

102

to make every possible effort

86. To jump the gun
Firm (a) to do something without finishing it
" (b) to try and harm someone
(c) to do something before the
appropriate time
Disturb (d) None of the above
Magnify 87. To fly off the handle
(@) to dislocate
b) to lose one’s temper
Stormy (b) P
(c) to take off
Dignified o
(d) to be indifferent
Directions (88-90) : Out of the given
Pride alternatives, choose the one which can best
be substituted for the given words or
Pity sentence.
Choose the 88. Constant effort to achieve something.
(a) Patience (b) Vigour
(c) Enthusiasm (d) Perseverance
89. Words inscribed on the tomb.
(a) Eulogy (b) Epitaph
(c) Memoir (d) Eloquence
90. Life history of a man written by himself.
(a) Biography (b) Autobiography
(c) Calligraphy (d) Bibliography
(C-14)
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mﬁm%mmmﬁﬁmmaﬁwq@ﬁl

giTepT e qRaT §Eer
ﬁuﬁi‘ﬁw:za%_ | AfeypaH 3 : 90
e @ fog fadw

10.

& Y% 81 B QR a5 et I8 gihlea X o & I® yE-yRaeT gd 16 U=l @l & Ud
frdt ot R @ omfed o1 B g8 T & W 9D U Ia BHT AT gL TE €| ;R W &,
dr $9 9N e el Se-gRae! § 98 o W |

AT YT SIS FRA-YRIF H FR T T W A WA ¢ | T AIRAE FE-YRaer W
7B M 7 o ok 5 TR @1 sFawEe R T T

il @t Sueter IR T OMR Sheet ¥ difod FEan Fuifa oM ® wWen go 81 4
qd A 8 R Rl YR @ sFawd R T8 a9 8| oawde fcwr OMR Sheet W
U B |

@ srR-faftd a @ forg PefRa o@ Mot @t a1 a1 A dfediz 0 ER W UE W e
el B fafed 7 A 0F @ T M B IR @ W A Rt I R TF TR B TAT A
AT |

59 TE-RaeT A ¥ 5 N 0 B o/ 7 aN | WEIR, OMR StIR-97 31 Gl g 3
Wi 3| SIS G-I @ q1G Te-GRAeT U W o T B A B |

5 W-gRaH ¥ Gt 90 T E | TS W F AN 1 3@ 2| T IR B o BIg 3 A
FIC I |

A T, T, qaeIfa U4 HRgeR @ WE fewil Ud 3RiS <Ml A € | g} 3o H gfea fee
7o 3R SHS R orfare # FIE e &, aF 3l A gfed ye & A g

39 FeA-gRaeT § W 1 @ fov ?F U9 8IS M §)

e § dopeicy, TIC UL /TY), AT BT A Feran b IUGRY W H @ Td
TP ST AT I B |

angeffTor g ded W o @ f5 OMR Sheet @1 qediae gaag e 7eH gRI fFar & & |
v, OMR Sheet W T @ T8 We § N eFuen wF $0@! T8l U6 IR 3R JeAeb
T T IR | 39 PSY B SR ued |7 a9 @) @R § e} e for wd RmiaR
Sl

Note : English Version of the instructions is printed on the First Page of this Booklet.

102

(C-16)



QUESTION BOOKLET OF THE CLERK (2ND SHIFT) EXAMINATION-2022

DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU ARE ASKED TO DO SO

Booklet No. : Booklet Series
Roll No. : D
Time Allowed : 2 Hours Maximum Marks : 90

10.

INSTRUCTIONS FOR CANDIDATES

Immediately after commencement of the Examination, check that this Question
Booklet contains 16 pages and does not have any unprinted, torn or missing
pages or items, etc. If so, get it replaced by a New Question Booklet of same
series.

Enter your Roll Number on the Question Booklet in the Box provided above. DO
NOT write anything else on the Question Booklet and avoid any stray marks.

Candidates must fill up the necessary information only in the space provided
on the supplied OMR Sheet before commencement of the examination and must
not make any unnecessary marks on it. Necessary directions are available on
the OMR Sheet for filling up the same.

For marking the correct answer, darken one circle by black or blue ballpoint
pen only. Do not mark on more than one circle. Darkening more than one
circle will be treated as wrong answer.

Do not detach any leaf from this Question Booklet. After the Examination, hand
over the OMR Sheet to the Room Invigilator. You are allowed to take the
Question Booklet after the Examination is over.

This Question Booklet contains 90 Questions. Each question carries 1 mark.
There is no negative marking for any wrong answer.

Questions in General Knowledge, Mathematics, Reasoning & Computer are
both in Hindi & English. However, English Version shall always prevail in case
of any discrepancy or inconsistency between English version and its Hindi

Translation.
Two pages have been provided for Rough Work in this Question Booklet.

Possession and use of Calculator, Smart Watch/Watch, Mobile Phone and
Electronic Gadgets is strictly prohibited in the Examination Hall.

Candidates are informed that evaluation of the OMR Sheet will be done by
Electronic Machine. So, darken the circles on the OMR Sheet properly,
otherwise Machine will not be able to read and evaluate it. Failure to comply
with this instruction will be the sole responsibility of the candidates.
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Rs. 561 is to be distributed among A, B,

C in such a way that A gets Rs. 120
more than B and Rs. 120 less than C.
What is the share of B in this ?

(@) Rs.73 (b) Rs. 67
(c) Rs.76 (d) Rs.80

561 Bo @I A, B, C H 39 WbR faaRa
HRAT & fF A T B I 120 o 3fH Tor
C ¥ 120 Yo &9 fAct| $HH B &1 W
faam g ?

(a) 73%o0 (b) 67 %o
(c) 76 %0 (d) 80 %o

Ifa:b=3:4and b:c=4: 7 then
a+b+c
c

(@ 1 (b) 2
(c) 3 d) 7
IR a:b=3:4TAMb:c=4:7%8

a+b+c _
c

(@) 1 (b) 2
€ 3 d 7

Two numbers are in the ratio 3 : 4 and
their LCM is 84. What will be the larger
number out of these ?

(a) 21 (b) 24
(c) 28 (d) 84

3 W 3 : 4 P U A § qAT 3@
YA FAa 84 B | S99 W FS1 WAl
g1 8rfy ?

(a) 21 (b) 24

(c) 28 (d) 84

A can finish a piece of work in 12 days. A
and B together can finish it in 8 days. In
how many days can B alone finish the
work ?

(a) 24 (b) 20
(€ 18 (d) 22

=?

?

(D-3)
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ATE Fd B 12 oA # W R
HHar 21 A AT B Aerax 39 8 o9 #
AT TR GHA & | B APl 36 A B
frem fom # <y R Hpar ® ?

(a) 24 (b) 20
(c) 18 d) 22

A can do a piece of work in 10 days, B in
15 days and C in 20 days. A and C
together worked for 2 days. After that B
was put on the job in place of A. In how
many days the work was completed in

all ?
(a) 12 days (b) 10 days

(c) 6days (d) 8 days

A f&ft & @1 10 &9 &, B, 15 f&= #
qar ¢, 20 T A [ R |HaT 21 A
T ¢ s 2 fea #rd far | aereang
ADRE R B P B W O faar
T g fAemaR s fea T A4 g

g3 7
(@) 12fe= (b) 10 &=
© e6f= d 8fe=

Car A covered a distance of 448 km in 8
hours and Car B covered a distance of
110 km more than Car A in 9 hours.
The ratio of the speed of car A and car B
is respectively :

(a) 28:31 (b) 29:32

() 55:2 (d) 62:55

PR A 7 448 fflo o g 8 g § T
P AAMMBPRBA9 g § FR A W 110
fiflo afd 0 @7 3| BR A T 3R
B ®I 7Y &1 AT HH: —

(a) 28:31

(c) 55:2

(b) 29:32
(d) 62:55



A lent Rs. 5000 to B for 2 years and Rs.

3000 to C for 4 years at the same rate of
simple interest. He received a total of
Rs. 2200 as interest from them, what is
the rate of interest ?

@ 5% (b) 7%

(c) 8% (d) 10%

A 9 B @I 5000 %o 2 q¥ & forg @em ¢
P 3000 To 4 T¥ @ foN HERY &
P TP B X W SUR A S99 °H
IF | S B HY A HA 2200 To UK
| & &) aiffe SR fa 8 7

(@) 5% (b) 7%

(c) 8% (d) 10%

A sum of money amounts to Rs. 8028 in
3 years and Rs. 12042 in 6 years at a
certain rate of interest, when the
interest is compounded annually. What
is the principal amount ?

() Rs.5352 (b) Rs. 4569

() Rs.5643 (d) Rs. 4596

v faf¥ea ufdera o ek w3 anf #
& I 8028 B W ' 3R 6 auT A
12042 Bo B Wl 8, 9 & a¥D
w7 | HIIMT Brar 8| o R @ g ?

(a) 5352 %o (b) 4569 %o

(c) 5643 %o (d) 4596 o

A man travels a certain distance by a
motorcycle. If he had travelled 6 km/h
slower, he would have taken 8 minutes
more. But, if he had travelled 4 km/hr

faster, he would have taken 4%

minutes less. Find the distance.
(a) 66km (b) 68 km

() 76km (d) 72 km

(D-4)
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10.

10.

11.

11

12.

12,

Uh i Alex dRfhad R (& AR
I TI w1 7| A g8 6 fbHlo /uver
R Toar O S¥ 8 e afte o

R, Ife a8 4 o /uver o Feran
a‘reﬁ%fﬁﬂ‘dmmﬁlaﬁw
BT |

(a) 66 fd o (b) 68 fdHHTo
) 76 fFHto (d) 72 f&ro
(257-168)="

(@ 023 (b) 0.41

(c) 06 (d 038

(2.57 -1.68) @1 & T & ?

(@) 023 (b) 041
(cf 06 d 08
Junk E-mail is also called

(a) Spam (b) Spoof
(c) Sniffer script (d) Spool

TP $HT B TE U HET 9T §
(@ 9 (b) qH
() ¥R fpe  (4) W

Data transfer rate in networks or
modems is measured in

(a) Bits per minute
(b) Bits per second

(c) Bandwidth

(d) None of the above

degad A AISRI H SISl RIMINY €
AT ST @

(a) focw ufr fame #

b) few oy dvs &

() defagar #

(d) SR H F DS e



13.

13.

14.

14.

15.

15.

16.

A video consists of a sequence of
() (b) Signals
(c) (d) Slots

Frames
Packets

@ FpA A e

(b) Ryera
(c) UdcH (d) wrcH

Which of the following is/are word
processing software ?

(a) WordPerfect (b) Google Docs
() MS Word (d) All of these
ffoeg # @ - I HARE
HUeaaR & ?

(a) TSWHaC (b) TS Sfe

() MSTE (d) ST | 9

The types of software used to carry out
tasks, such as writing a letter, is called :

()
(b)
(©
(d)
g8 dfrer o 5l e &1 g

FRA B forg yarT o omar 8, o &
oo g1, HEeT ©

(@) GUI AfEdIR

(b) FfeferdY divedar
() TUArdeE |ATedax
(d) Rred direamR

Which of the following is not a computer
language ?
(a) BASIC

() LOTUS

GUI software
Utility software
Application software

System software

(b) COBOL

(d) FORTRAN
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16.

17.

17.

18.

18.

19.

19.

e & 9/ PH-A FrgeR B AW T 77
(b)) COBOL
(d) FORTRAN

BASIC
LOTUS

(a)
(c)

Which of the following is not a web
browser ?

(a) (b)
(c) (d) Mozilla firefox
frfofad 4 | d9—a1 1@ 99 TSR
T 7
(@) IR
© ®M

Yahoof Opera

Chrome

(b) ST
(d) T WTARBTRT

domain is usually used for
educational purpose.

(a) .in (b) .org

(c) .com (d) .edu _
el @ forg wygad B 2 |

(a) .in (b) .org

(c) .com (d) .edu

Which of the following components of a
computer system, manages and

coordinates the operation of all the other
components ?

(a) Input Unit

(b) Output Unit

(c) Control Unit

(d) Arithmetic Unit

1 7 ¥ P drger Rved # R
® 9l "Uehl BT UawE I HATe el
THIIT BT Prd HRaT § 7

() FTC I
(b) 3MSTYS A1
(c) gl gBTg
() efRs gorg



20.

20.

21.

21.

20,

22,

23.

JPEG stands for

(a) Joint Professional Experts Group

(b) Joint Program Evaluation Group

(c) Joint Photographic Experts Group

(d) Joint Photographic Experienced
Group

JPEG & faR 8-

(a) TAEE WHIHF YaHUSH T

(b) SIEE T AT I

(c) TATEE BIENEE TEEIdH qd

(d) TEIEE BIThS YaUIRTTS U
URL stands for

(@) Uniform Research Limited
(b} Uniform Resource Locator
(¢) Uniline Resource Labs

(d) Uniform Research Locator
URL &7 fdRIR 8—

(@ IFerE Red fafce
(b) B RER drdex
(c) fremeT Rt e
(@ FheE R oidex

Spreadsheet files are generally stored
with an extension-

(@) .doc (b) .xsl
() .xcl (d) .xlIsx
@ AT HeIRA BT € |

(a) .doc (b) .xsl
() .xcl (d) .xlsx

Intersection of rows and columns in
spreadsheet are called

(@) (b) Cells
(c)

Box

Line (d) None of these
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(D-6)

23, Brediic ¥ dfkal ok wHl @ ufiessd
BT HET Ol & —
(@) @i (b) ¥
(c) e (@ ¥ PR e
24, is a compression technology for
transmission of video.
(a) JPG (b) MP4
(c) MPEG (d) 3GP
24, . SSAT B FIRY B fOU HhET
GERICRS
(a) JPG (b) MP4
(c) MPEG (d) 3GP
25, e is a chip which performs
arithmetic and logical instructions in
CPU.
(a) Main memory
(b) Microcontroller
(c) Microprocessor
(d) SDRAM
25. . U AT B G WY W TRRT
3R arfres fder fRefea &t 21
(@) AT AARY
(b) HIEHIBLIR
(c) FTESHIIEER
(d) SDRAM
Direction (26-29) : Read the following
information carefully and answer the

questions given below it :

Six persons A, B, C, D, E and F are

sitting in two rows, three in each.

E is not at the end of any row.
D is second to the left of F.

C, the neighbour of E, is sitting diagonally
opposite to D.

B is the neighbour of F.



26.

27.

28.

29.

Which of the following are sitting
diagonally opposite to each other ?

(a) FandC (b) Dand A
()

Which of the following are in the same
row ?

(a)
(c)

Which of the following are sitting in one
of the two rows ?

(a)
(c)

After D and E interchanging seats, who
will be the neighbours of D in the new
position ?

(a)
(c) OnlyB (d) Only A
frder  (26-29) : fr=folRaa i &

AandC (d) Aand F

Aand E (b) Eand D

Cand B (d) Aand B

FBC (b) CEB

DBF (d) AEF

Cand A (b) Fand B

HauHgEe w8 R M Ry MU e @

Sis R A

Bg Afdd A, B, C, D, E 3R F 7

dfdal 4 49 € T dfd § 9 afi 1

gl

E fod off dfdm & R o =48 do1 2
F& ¢ TR% ST e D 99T B |

E®UY H C ISR S DD AW & RSP
faepofa: fawda de1 2

F3 U B JaT 2|

26.

frefafed § @ d9-— @& TR D
I famofa: g der @ ?

F3RC (b) D3IRA
AdRC (d) ASRF

(@)
(c)
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27.

28.

29.

30.

30.

31.

31.

fr=feRad 4 9 o9 1@ & dfem § 99
g7

(@) AJRE (b) E3RD

() C3RB (d A3NRB
frfaRad § @ dF—r < ufdaal § 9
s o

(a)
(c) DBF (d) AEF

D 3R E & WMl & Ea—age >
91, ¢ WIF R D & YN $I9 S0 & ?

(@ C3RA (b) F3RB
() HaaB (d) Pael A

A and B are brothers. C and D are
sisters. A’s son is D’s brother. How is B
related to C ?

(@)
(c) Grandfather (d) Uncle

AR BYE Bl C3IRD a84 &1 A @T
9T D B S Bl B, C ¥ fF9 yBR
e € ?

o

FBC (b) CEB

Father (b) Brother

(b) g

(d) =T

(a)
(c)

A, B and C are sisters. D is the brother
of E and E is the daughter of B. How is
A related toD ?

(@)
(c) (d) Aunt

A, B3R CSEI 81D, E &1 9E 2 3R
E, B® ¥ 8| A, D ¥ &9 yaR
Hefeg & ?
(a) dEd
(c) eI

Sister (b) Cousin

Niece

(b) AHRY 98
(d) =Y



32

32.

. A and B are married couple in which B

is husband. X and Y are brothers. X is
the brother of A. How is Y related to B ?

(a) Brother-in-law
(b) Brother

(c) Cousin

(d) None of these

A 3R B faafRa wer 2 s B ufY
BIXIARY W €1 X, A &1 9 21 Y,
B ¥ 59 yorR wIfdd & ?

(b) TS
(d) ST PIE T

In each of the

(2) e
(€ ¥RT W

Direction (33-35)

following questions, find out how many such
pairs of letters are there in the given word,
each of which has as many letters between
them in the word as is/are between them in
the English alphabet.

33.

34.

35.

BRIGHTER

(a) One (b) Two
(c) Three (d) Four
HACKLE

(a) One (b) Two
(c) Three (d) Four
PICKLE

(a) Two (b) Three
() Four (d) Five

frder (33-35) : fFfafea & @ W

T ¥ Ry T weg A quit @ O fhaw o

g

e drar s & oo €, R & sfsh

goiHTer § 399 9 B 8 7

33

. BRIGHTER

(b) =T

(d IR

Th
LIk

(@)
()
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34.

35.

36.

36.

37.

37.

38.

38.

HACKLE

(@) T (b) =T
(c) o= (d) IR
PICKLE

(@) @ (b) &=
() ¥R (@) dr=

Soaps clean surfaces on the principle
based on

()
(c) elasticity
YT P ERI Wasl B WH BRA Pl
Rigr=r smenRa 2
(@) TIEAT W

(c)

Which one of the following waves is used
for detecting forgery in currency notes ?

viscosity (b) floatation

(d) surface tension

(b) @ W

TARIAT X (d) TS T919 W

(a) Ultraviolet waves
(b) Infrared waves
(c) Radio waves

(d) Microwaves

TR Al # STl @ Ugar ded
@ fou fA=fofaa & 9 P9 & &1
AT BT ® 7

(@) TR A (b) SFaREd ¥l
(c) AT a9 (d) & a¥l
Which one of the following is the
chemical formula of gypsum ?

(a) CaSO,:-2H,0 (b) Ca,SiO,

(c) 2CaSO,-H,0 (d) CaSO,

frfofRea & @ @9—<1 Roaa &
IS gF © ?
(@) CaSO,-2H,0

()

(b) Ca,SiO,

2CaS0O, -H,0 (d) CaSO,



39.

39.

40.

40.

41.

Thyroid gland produces a hormone
called ‘thyroxine’ which

(a) controls blood glucose levels

(b) controls ovulation

(c) controls metabolic rate

(d) maintains pregnancy

3ag (UmRizs) IR UERifea T THe
U B BT Icarad Sl 8, S

(@) oI H DS B wWR B G

HT 2 |
(b) U (3hegerer) BT
Bl T |
(c) SuTT=d R B AT FRar B
(d) TTaRRIT B gAY AT 2|
Precursor of which one of the following
vitamins comes from B - carotene ?
(a) Vitamin- A (b) Vitamin- C
(c) Vitamin- D (d) Vitamin- K
fAefofa faerfar & & 5w @ @
SR B-BRIEIT W U &rer & ?
(a) faerfi=— A
(b) fef=s— c
(c) faif@=— D
d ferifm- kK
Who among the following was the
founder of the Young Bengal Movement ?
(a) Henry Vivian Derozio
(b) David Hare
(c) Dwarkanath Tagore
(d) Prasanna Kumar Tagore

(D-9)
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41.

42,

42,

43.

43.

T §ITET M=l BT Yacid feriae
HA P AT ?

(a) T fafdEE RS

(b) <fIs 2R
(c) ERPMEYT SR
(d) TES HAR IR

The Indian National Army/Azad Hind
Fauz was organized to fight against

(a) Germany and Japan

(b) British in India

() Japan

(d) Russia

AR N H /3 e
T oo/ foaad fwg d=
fepar ar o ?

(@ STHAT TAT S

BIA BT
o forg

(b) ¥Ra # fafew
(c) S
d) w9

Who is the Current Chairperson of the
National Women Commission ?

(a) Mamta Sharma

(b) Rekha Sharma

(c) Vijaya Kishore Rahatkar
(d) None of these

I AR AN B gdHe Syeue
P E?

(@) HHGT I

(b) X=&r It

(c) faomm fHeiR w@Iear
(d) T PIS TE



44,

44,

45.

45.

46.

46.

on which one of the following rivers ?

(a) Godavari (b) Krishna

(c) Kavery . (d) Mahanadi
AT AR uREEn, R
Afedl # 9 f&9 a6 w @R 2 7

(a) TIRTERA (b) PwT

(c) T (d) TR

India has the longest coastline ?

(@) Odisha (b) Tamil Nadu
(c) Gujrat (d) West Bengal
ARG B FrEfRed § ¥ e wow
Y AfF o) dedr 8 ?

() S (b) TfReTg

(c) ORI (d) 9= Frer

The two provisions of the Constitution of
India that most clearly express the
power of Judicial review are

(a) Article- 21 and Article- 446
(b) Article- 32 and Article- 226
(c) Article- 44 and Article- 152

(d) Article- 17 and Article- 143

WRT & WfEE & o SUewy, Wl |aids | 48.

wWe WY ¥ e gAdded @ afdd
P G B 8, DA § ?

(D-10)
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The Nagarjuna Sagar Project is located 47.

Which one of the following States in 47.

48.

Who among the following can attend the
meetings of both the Houses of
Parliament while not being a member of
either House ?

(a) The Solicitor General of India
(b) The Vice-President of India

(c) The Comptroller and Auditor
General of India

(d) The Attorney General of India
g @ e Nt 99 &7 e 9 B2F
w® 1, F=folRea § @ B9 dag & e
HAl B doBi § IURYT & Fopar & ?
(a) HRT BT Al ¥ TRA

(b) WIRT T SURTSZUfY

() WRA &1 F¥F® Td AETorRaTIeTs
(d) YRT DT HEIFQATS!

Which among the following is not a basic
feature of the Constitution of India ?

(a) Fundamental Rights
(b) Independence of Judiciary
(c) ' Federalism

(d) The unquestioned right of the

Parliament to amend any part of
the Constitution

fr=foRad § 9 -1 9Rd & dfaa=

B MR e = & ?

(@) 7o PR

(b) SITYTfeTdT @ Al

(c) wEaR

d) <faus & fae Y 9rT &1 HeeE
A P GHg o [Afdare afd



49. According to the Census 2011, the
density of population in which one among
the following States is the lowest ?

(@) Sikkim

(b) Nagaland

(c) Arunachal Pradesh
(d) Mizoram

49. 2011 & STV & AR FA=aferRad
RO B 2 B i B R e

T RATH | ?
(@ fofawa

(b) FATTS

(c) IO Wod
d) fAeR"

50. Which one among the following
countries was the top contributor to
India’s total FDI for the year 2023-24.

(a) Mauritius (b) Singapore
(c) USA

50. fr=foriRed # & @H—1 @ a¥ 2023-
24 § YRd & G{oa UHoIlodNgo H
Haifers ANTeTEHAl Q9 o ?

(@) #RE (b) fETTgR

(c) JoTHoUo (d) SI9r=

Directions (51-54) : Read the passage
and then answer the questions based on it.
You are required to select your answers
based on the contents of the passage and
opinion of the author only.

PASSAGE

(d) Japan

The rule of the road means that, to
protect everyone’s freedoms, we must
sometimes restrict individual freedoms. When
a policeman steps into the road and raises
his hand to stop traffic, he is not acting as a
tyrant but as a protector of freedom. By
accepting small limits on personal liberty, we

can create a society where freedom is real for
everyone. We must preserve both our
individual freedom and our social freedom.
This requires a thoughtful balance. While no
one should tell me exactly what my child
must study, if I were to say my child should
have no education, society would step in and
insist that my child must go to school,
whether I like it or not.

51. What does “the rule of the road” suggest
in the passage ?

(a) Freedom should not be restricted
at any time.

(b) Individual freedoms must
sometimes be limited to protect
everyone'’s freedom.

(c) Only policemen have the right to
restrict freedom on the road.

(d) Freedom cannot coexist with rules.

52. According to the passage, when a
policeman stops traffic, he represents

(a) tyranny
(c) freedom

(b) power
(d) fear
53. The author suggests that society would
intervene if
(a) a parent wants his child to attend
a specific school
(b) a parent insists that his child
should not receive any education.
(c) a child prefers studying science
over arts.

(d) a child wants to study abroad.

54. What is required to maintain both
individual and social freedom, according
to the passage ?

(a) A strong government.

(b) Complete individual
without limits.

freedom

(c) A balance between individual and
social freedom.

(d) Restrictions on only social

freedom.

(D-11)
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55.

56.

57.

58.

59.

Directions (55-59) : In the following
questions, out of the four alternatives, select
the word nearest in meaning to the words
given.

Ostentation
(a) Calmness
(c) Declaration

Primordial

(b)
(d)

(a) Feeling of elation

(b) Small
(c) Elementary
(d) Daunting

Massive

(a) Enormous (b)
(c) Hazardous (d)
Stubborn

(a) Observant (b)
(c) Obstinate (d)
Astronomical

(a) Exorbitant (b)
(c) Durable (d)
Directions (60-64)

Equanimity

Pageantry

Erroneous

Perilous

Obnoxious

Corpulent

Commercial
Illogical
Choose the

alternative that is most nearly opposite in
meaning to the given words.

60.

61.

62.

Anathema

(a) Appreciation

(c) Protection
Opaque
(&) Vague

(c) Transparent

Belittle
(@) Allure
(c) Ascend

102

(b)
(d)

(b)
(d)

(b)
(d)

63.

64.

Inclement

(a) Pleasant (b) Stormy

(c) Feeble (d) Dignified
Vanity

(a) Humility (b) Pride

(c) Ostentation (d) Pity

Directions (65-67) Choose the

alternative which best expresses the meaning
of the given idioms/proverbs :

65.

66.

67:

To move heaven and earth

(a) to pray earnestly -

(b) to make every possible effort

(c) to sing beautifully

(d) None of the above

To jump the gun

(a) to do something without finishing it
(b) to try and harm someone

(c) to do something before the
appropriate time

(d) None of the above
To fly off the handle

(a) to dislocate

(b) to lose one’s temper

(c) to take off

Cursed
(d) to be indifferent
Obstacle
Directions (68-70) : Out of the given
alternatives, choose the one which can best
Firm be substituted for the given words or
sentence.
Poor
68. Constant effort to achieve something.
R (a) Patience (b) Vigour
. (c) Enthusiasm (d) Perseverance
Magnify
(D-12)



69. Words inscribed on the tomb.
(a) Eulogy (b) Epitaph

(c) Memoir (d) Eloquence

70. Life history of a man written by himself.
(a) Biography (b) Autobiography

(c) Calligraphy (d) Bibliography

frder  (71-75) : ffefea & & gg
il aTel WeE BT g BIT—
71. (a) JaERS (b) ATTEIRS

(c) cTHATEIRSG (d) daBIRe®
72. (a) WIGMIg (b) wTgHla
I - (d) TG

73. (a) SmHTTIT (b) SR
(c) SR (d) ST
3R (b) ST
(c) ST (@) 3rFHuT
75. (a) Sffcrergfaa (b) rireAIfad
(c) SriedIERN (d) Irfrerafad
fAdwr (76-80) : FmforiRaT wres Wl &

74. (a)

foQ v wrsg 9o 13U TV et § | o
76. RIHT 9= 7 B
(a) TSI (b) SIS
(c) e @ f&=
77. WEA @ $TOT Y@ dTel—
(@ fas (b) foremy
(c) =T @ =R
78. I& I Sl ARG &
(@) RKX (b) RMRAT
(c) SR (d) Ireiifdd

79. S f5AY @1 R @mEdT 8-

(2) feaemr (b) rfec®N
(¢ feddr (d) TRt
80. oIST S aTeTi—
@) orcTs (b) TEE
(© & () o
fader (81-82) : ffaRed weIaRi/

Arpifacal @1 et 89D Ry MU e § §
T
81l. ‘BT @ BRI 9 HeHT BT 3ef B

(@ Y9 ¥ Yg ST

(b) W &l
(c) BT JERT BT
(d) e
82. ‘3 TRMT w3k B
(@) HORET (b) €T ST
(c) oI (d) =TT T

frder (83-86) : fA=forRaa am@axor @
S ey 3R IHA Wafdd WeA! &1 S,
S oEd @ fRERMER 8, Ry v et 3§
| ghg-

TS TKIMAFT & g A A o,
3UA QY D GRpIA AAT HIT B g I 3R
SHM WES € BT 8| 98 ouN I, Al
SR SR T @ forg gl @1 S
PR DI Had TR w2l R 2w B
Rl & ggg A g8 ST 9Eer T8 g
qg I, WEA 8] Udl gE-wifd &R
wfg we1 & fog @ doar g1 <wfaa sk
Trdeie fRa & 391 IS Aesr @1 sk

(D-13)
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& T8l E |qHhaT| Ig HEA S99 96 B
T H @ IRG wel B fF 98 o=y 9
el @ W I I AR @R, o
w® R w R = & fau a9 e @

g uEEeR S @™ SoMT  UdeH
PR P T, U GES D U P WA
Ig AISHR S O 7 < |

83. WfF I @I dodT B
(o) STl
(b) 31T HINT
(c) 3TUFY S WrEHT
(d) ST =AT—aTAT
84. TEIY o WE WP B
() VST HEA
(b) TSR
© S g B
@ s B gE-if

85, YD NICIAAMT & §&d A WA BIar
3

(@) <w B 9gfy @ forg
(b) 29 & gE-wifa & fog
(© =9 & 9 & forg
(d) 2T P AEW b o

86. IMfdT URT el &—
(@) SR &7 IR & & forg
(b) AT BY e & forw
() ¥R @t &g @ F forg
d) e & forg g€ A &g

fds (87-88) : f=folRea vl &
AT vreg @1 TEE S9 e Ry U fawedr H
| PIfTY —

87. TI=
(@) MLE (b) afe
(@ fox (d) FT
88. Xl
(a) T (b) @
() == (d) 37T
fadwr (8o-90) : fy=forRed vl &

e v &1 uge S fou U Awedi § A
-

89, TRUIIH®
(@) EFTHSD (b) RomrceHs
(c) HIFTH® (d) ITHD
90. 3fa
(@) ¥ET AT (b)) IR
(c) 3T @ e

(D-14)
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Space For Rough Work / &% @M & folY W78
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WWW%WW@W@HWWWIWH@FYI

gfaaT we gRTwT S

_— D

Feffe v : 2w ' w31 : 90
et @ fog iy

10.

e Y B B qe 915 pell a8 ghfed o of f 98 se-gRaae g 16 gt @ R w@
ol f wR @ amfed o v € T ¢ T T o s FReET o w2 T ¥ R Y R
S WA NG AT FRE-YRae § 95 o WY |

D! A1 IS FE-gRTHT H HR Ry T @ § 0w ¥ o dRRe ww-gRaw w
%o N 7 ford ol el YR a1 FavEe frem 7 @R |

sl @1 Suerel SR T OMR Sheet ¥ aifdd gaemt FufRa WM ® w0 7% a9 @
od ol & 3R 5l JER @1 v frem W 9 &) omeves S OMR Sheet ®
SUee |

wel STR-fifed &7 @ forg FeiRa vo Mo @ wret @1 el ez 9 gRT W | W@ ¥ AR
el @ Rifed 7 & 1@ 9fF Mot 3 SR D ®9 § Rkd o W IH SR B TAd A
SIS |

59 TG § 4 6l o o= B e 7 o | T, OMR StR-% @ $ Ned 3
w9 < | 3! RT3 915 Je-gRAGT 0 AT o o @) AR #

T JE-YRAPT § e 90 T 2 | YRS W BT AN 1 3G B | Tord SR B fo DY 3 AE
FIC S |

Y M, O, Tevid U6 FReY & ¥ R Ud ool I A € | 3l sl § g Rl
T 3R S R Sgare A I8 frerar &, o sl ¥ gfed yew € wwg &

T TE-GRTP § Y6 31 B forg ) g OIS MU §

e BE H dAgecy, WE USl /T, RS B Sl SR SUeRY WY ¥ Y& gd
IHPT SUINT AT IRAT B |

T 39 ToF | A W 5 OMR Sheet 1 qedid geidgieG 79F gRT far o 2|

7ga, OMR Sheet W Mol & T TWid & WX 371 T 360! & I AT 3R Foare+
T IR UM | 3 ST BT R W T X @) o § oreff THe ol vad AR

Gl

Note : English Version of the instructions is printed on the First Page of this Booklet.
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